
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk

lkekU; vè;;u

(fnlacj eSx”khu tk¡p ijh{kk)
fnukad& 08-12-2019

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk 
vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u 
fy[ksaA

	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fgUnh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 
gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA 
izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'u&i=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ n.M ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ n.M ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	dsanzh; ekuo lalkèku fodkl ea=kky; }kjk vf[ky Hkkjrh; 
mPprj f'k{kk losZ{k.k fjiksVZ] 2018–19 tkjh dh xbZ gSA 
bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 fjiksVZ ds vuqlkj] ldy ukekadu vuqikr o"kZ 
2017–18 esa 25.8% ls c<+dj o"kZ 2018–19 esa 
26.3% gks x;k gSA

	 2.	 mÙkj izns'k vkSj dukZVd esa mPp f'k{kk ds fy;s 
ukekadu ds lanHkZ esa Nk=kksa dh rqyuk esa Nk=kkvksa 
dh la[;k vfèkd gSA

	 3.	 bl fjiksVZ ds vuqlkj] ch-Vsd vkSj ,e-Vsd 
dk;ZØeksa esa ukekadu esa dkiQh fxjkoV ntZ dh 
xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 2.	^xzkeh.k LoPNrk j.kuhfr] 2019–2029* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g j.kuhfr jkT; ljdkjksa ,oa vU; fgrèkkjdksa 
ds ijke'kZ ls rS;kj dh xbZ gSA

	 2.	 bl j.kuhfr ds rgr ̂ vksMh,iQ&Iyl* ;kstuk gsrq 
LFkkuh; ljdkjksa] uhfr&fuekZrkvksa] dk;kZUo;udÙkkZvksa 
vkSj vU; lacafèkr fgrèkkjdksa ds ekxZn'kZu ds 
fy;s ,d :ijs[kk rS;kj dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1, u gh 2
	 3.	^oYMZ bdksukWfed vkmVyqd fjiksVZ] 2019* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 gky gh esa ;g fjiksVZ ,f'k;kbZ fodkl cSad }kjk 
tkjh dh xbZA

	 2.	 bl fjiksVZ ds vuqlkj] foÙkh; o"kZ 2019 ,oa 2020 
ds fy;s Hkkjr dh vkfFkZd o`f¼ nj Øe'k% 6.1% 
vkSj 7% jgus dk vuqeku O;Dr fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1, u gh 2
	 4.	^20oha i'kqèku tux.kuk* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 20oha i'kqèku tux.kuk esa igyh ckj iQhYM ls 
vkWuykbu izlkj.k ds ekè;e ls ?kjsyw Lrj ds 
MkVk dk vadhdj.k fd;k x;k gSA

	 2.	 blds vuqlkj] ns'k esa dqy i'kqèku vkcknh 535.78 
fefy;u gSA

	 1. 	All India Survey on Higher Education (AISHE), 
2018-19 Report has been released by the Union 
Ministry of Human Resource Development. In this 
context consider the following statements:

	 1. 	As per the report, the Gross Enrollment 
Ratio has increased from 25.8% in the year 
2017-18 to 26.3% in the year 2018-19.

	 2. 	Uttar Pradesh and Karnataka have more girls 
than boys students in terms of enrollment 
for higher education.

	 3. 	According to this report, enrollment in 
B-Tech and M-Tech programs has recorded 
a significant decline.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b)	  1 and 2 only
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3

	 2. 	With reference to “Rural Sanitation Strategy, 2019-
2029”, consider the following statements:

	 1. 	This strategy has been prepared in 
consultation with state governments and 
other stakeholders.

	 2. 	Under this strategy, a framework has 
been prepared for the guidance of local 
governments, policy-makers, implementers 
and other related stakeholders for the 'ODF-
Plus' scheme.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b)	  2 only
	 (c)	  Both 1 and 2	 (b) 	 Neither 1 nor 2

	 3. 	Consider the following statements in the context 
of “World Economic Outlook Report, 2019”:

	 1. 	This report was recently released by the 
Asian Development Bank.

	 2. 	According to this report, India's economic 
growth rate for the financial year 2019 
and 2020 is projected to be 6.1% and 7% 
respectively.

		  Which of the statement(s) given above is/are not 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c)	  Both 1 and 2	 (b) 	 Neither 1 nor 2

	 4. 	With reference to the “20th Livestock Census”, 
consider the following statements:

	 1.	 For the first time in the 20th Livestock 
Census, data of household level has been 
digitized through online broadcasting from 
the field.

	 2.	 According to this, the total livestock 
population in the country is 535.78 million.
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	 3.	 rsyaxkuk esa i'kqvksa dh la[;k esa lcls vfèkd 
o`f¼ gqbZ] tcfd if'pe caxky esa lcls de 
o`f¼ gqbZA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 	 (d)	 1, 2 vkSj 3
	 5.	7 ls 11 vDVwcj] 2019 ds eè; fo'o dikl fnol 

lekjksg fuEufyf[kr esa ls dgk¡ vk;ksftr fd;k x;k\
	 (a)	 tsusok	 (b)	isfjl

	 (c)	 ubZ fnYyh	 (d)	 U;w;kWdZ

	 6.	^okWY;we Hkkfjr vkSlr mit* ds lanHkZ eas fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g O;kikfj;ksa }kjk mi;ksx fd;k tkus okyk ,d 
VªsfMax csapekdZ gS] tks okWY;we vkSj dher] nksuksa 
ds vkèkkj ij fnu Hkj esa vkSlr ewY; dh 
izfrHkwfr;k¡ iznku djrk gSA

	 2.	 ;g O;kikfj;ksa dks izfrHkwfr;ksa ds #>ku vkSj ewY;]
nksuksa dh tkudkjh iznku djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1, u gh 2
	 7.	^ou us'ku ou iQkLVSx* Ldhe ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 lM+d ifjogu ,oa jktekxZ ea=kh us ns'k esa 1 

fnlacj] 2019 ls bl ;kstuk dks ykxw djus dh 
?kks"k.kk dh gSA

	 2.	 bl ;kstuk dk mn~ns'; Vksy ds laxzg dks fMftVy 
:i esa ,dhÑr djuk rFkk laiw.kZ Hkkjr esa okguksa 
dh fuckZèk xfr'khyrk lqfuf'pr djuk gSA

	 3.	 iQkLVSx ,d izdkj dk LVhdj gS] ftls okguksa 
dh foaMLØhu ij fpidk;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 1, 2 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 3
	 8.	^vkS|ksfxd mRiknu lwpdkad* ds lanHkZ esa fuEufyf[kr  

dFkuksa ij fopkj dhft;s%
	 1.	 ;g lwpdkad vFkZO;oLFkk esa fofHkUu {ks=kksa ds 

fodkl dk fooj.k izLrqr djrk gSA

	 2.	 bls lkaf[;dh vkSj dk;ZØe dk;kZUo;u ea=kky; 

ds varxZr dsanzh; lkaf[;dh dk;kZy; }kjk okf"kZd 
:i ls  ladfyr vkSj izdkf'kr fd;k tkrk gSA

	 3.	 ;g ,d lexz ladsrd gS] tks fd izeq[k {ks=kd 
,oa mi;ksx vkèkkfjr {ks=k ds vkèkkj ij vk¡dM+s 
miyCèk djkrk gSA

	 3.	  Telangana has got largest increase in cattle 
population, while West Bengal has the 
lowest increase.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	3 only 	 (b) 	 1 and 2 only
	 (c) 	2 only 	 (d) 	 1, 2 and 3 

	 5. 	From the following, where the World Cotton Day 
event was organised between October 7 to11, 
2019?

	 (a) 	Geneva	 (b) 	 Paris
	 (c) 	New Delhi 	 (d) 	 New York

	 6. 	Consider the following statements in the context 
of “Volume Weighted Average Yield- VWAY”:

	 1. 	It is a trading benchmark used by traders, 
which provides securities of average value 
throughout the day, based on both volume 
and price.

	 2. 	It provides information to traders of both 
trends and prices of securities.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2	 (b) 	 Neither 1 nor 2

	 7. 	Consider the following statements in the context 
of “One Nation One FASTag scheme” :

	 1. 	The Minister of Road Transport and 
Highways has announced to implement the 
scheme all over the country from December 
1, 2019.

	 2. 	The scheme aims to digitally integrate toll 
collection and ensure smooth mobility of 
vehicles across India.

	 3. 	Fastag is a type of sticker that is affixed to 
the windscreen of the vehicles.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	2 only 	 (b) 	 1, 2 and 3
	 (c)	  2 and 3 only	 (d) 	 3 only 

 	 8. 	With reference to the “Index of Industrial 
Production”, consider the following statements:

	 1. 	This index represents the development of 
various sectors in the economy.

	 2. 	It is compiled and published annually by the 
Central Statistics Office under the Ministry 
of Statistics and Program Implementation.

	 3. 	It is a composite indicator, which provides 
data on the basis of the major sector and 
usage-based area.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3
	 9.	gky gh esa Hkkjrh; fj”koZ cSad }kjk ^jkT; foÙk % o"kZ 

2019–20 ds ctV dk vè;;u* 'kh"kZd ls fjiksVZ tkjh 

dh xbZ gSA fjiksVZ ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ;g ,d okf"kZd izdk'ku gS] tks jkT; ljdkjksa ds 

foÙk dh lwpuk] fo'ys"k.k vkSj vkdyu miyCèk 

djkrk gSA

	 2.	 fjiksVZ ds vuqlkj] fiNys nks o"kks± esa jkT;ksa dk 

ldy jktdks"kh; ?kkVk jktdks"kh; mÙkjnkf;Ro 

vkSj ctV izcaèku vfèkfu;e }kjk fuèkkZfjr lhek] 

vFkkZr~ th-Mh-ih- ds 3% dh lhek esa jgkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1, u gh 2
	10.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 es?kky; ljdkj us ik¡p NksVh tutkfr;ksa dks 

lafoèkku dh NBh vuqlwph ds izkoèkkuksa ls ckgj 

j[kus dk fu.kZ; fy;k gSA

	 2.	 es?kky; dh cksMks&dNkjh] gktksax] dksp] eku 

rFkk jkHkk tutkfr;ksa dks Lok;Ùk tutkrh; ifj"knksa 

esa ukekadu ds fy;s ̂ vufjiztsaVsM VªkbCl* ds :i 

esa oxhZÑr fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1, u gh 2
	11.	^oSf'od izfrLi¼kZRed lwpdkad&2019* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 flaxkiqj us la;qDr jkT; vesfjdk dks izfrLFkkfir 

dj bl lwpdkad esa izFke LFkku izkIr fd;k gSA

	 2.	 28oas LFkku ds lkFk phu dks fczDl ns'kksa ds lewg 

esa loksZPp LFkku izkIr gqvk gSA

	 3.	 bl fjiksVZ ds vuqlkj] Hkkjr O;kid vkfFkZd 

fLFkjrk vkSj ck”kkj ds vkdkj ds ekeys esa mPp 

LFkku ij gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 1 vkSj 3 	 (d)	 dsoy 3

		  Which of the statement(s) given above is/are not 
correct?

	 (a) 	2 only 	 (b) 	 1 and 3 only
	 (c) 	3 only 	 (d) 	 1, 2 and 3 

	 9. 	Recently, the Reserve Bank of India has released 
the report titled 'State Finances: Study of Budget 
2019-20'. With reference to the report, consider 
the following statements:

	 1. 	It is an annual publication which provides 
information, analysis and assessment of the 
finances of state governments.

	 2.	  According to the report, the gross fiscal 
deficit of the states in the last two years 
remained within the limit set by the Fiscal 
Responsibility and Budget Management 
Act i.e., 3% of GDP.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	  1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2

	 10. 	Consider the following statements:
	 1. 	The Government of Meghalaya has decided 

to keep five minor tribes out of the provisions 
of the Sixth Schedule of the Constitution.

	 2. 	The Bodo-Kachari, Hajong, Koch, Mann 
and Rabha tribes of Meghalaya are classified 
as 'unrepresented tribes' for enrollment in 
autonomous tribal councils.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2

	 11.	  With reference to the ‘Global Competitiveness 
Index-2019’, consider the following statements:

	 1. 	Singapore has topped the index by replacing 
the United States.

	 2. 	With the 28th position, China has topped  in 
the BRICS group of the countries. 

	 3. 	According to this report, India ranks highest 
in terms of macroeconomic stability and 
market size.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1, 2 and 3 	 (b) 	 2 only 
	 (c) 	1 and 3 only	 (d) 	 3 only 



5lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 8750187501, 011-47532596

bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	12.	,f'k;kbZ fodkl cSad }kjk tkjh ^bdksukWfed vkmVyqd 
viMsV* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 blds vuqlkj ^fodkl'khy ,f'k;k* esa 'kgjh 

fuokfl;ksa dh la[;k o"kZ 1970 ds ckn ls yxHkx 

ik¡p xquk c<+ xbZ gSA

	 2.	 ^fodkl'khy ,f'k;k* 45 ns'kksa ds lewg dks lanfHkZr 

djrk gS] tks ,f'k;kbZ fodkl cSad ds Hkh 

lnL; gSaA

	 3.	 ^fodkl'khy ,f'k;k* dh 'kgjh vkcknh dk 

nks&frgkbZ Hkkx phu vkSj Hkkjr ds 'kgjksa esa fuokl 

djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	13.	^Hkwy tkus dk vfèkdkj* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 Hkwy tkus dk vfèkdkj baVjusV ij miyCèk fdlh 

O;fDr ds futh MkVk ds Hkzked] vizklafxdrk 

dks lhfer djus] gVkus ;k lgh djus dh {kerk 

dks lanfHkZr djrk gSA

	 2.	 Hkkjr esa Hkwy tkus ds vfèkdkj ls lacafèkr dksbZ 

dkuwuh izkoèkku ugha gSA

	 3.	 Hkwy tkus dk vfèkdkj futrk ds vfèkdkj ls 

vyx ugha gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 2

	 (c)	 1, 2 vkSj 3 	 (d)	 dsoy 3

	14.	^uscjgqM ekbul ou* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 ^uscjgqM ekbul ou* esa ̂ ou* dk lanHkZ ikfdLrku 

ls gSA

	 2.	 ;g Hkkjr }kjk ikfdLrku dks oSf'od Lrj ij 

vyx&Fkyx djus dh uhfr dk ,d fgLlk gSA

	 3.	 ^uscjgqM ekbul ou dh uhfr ikfdLrku ds lkFk 

phu ij Hkh leku :i ls ykxw gksrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 	 (d)	 dssoy 1 vkSj 3

	 12.	  With reference to the 'Economic Outlook Update' 
released by the Asian Development Bank, consider 
the following statements:

	 1. 	Accordingly, the number of urban resident 
in 'developing Asia' has increased almost 
five times from the year 1970.

	 2.	  'Developing Asia' refers to a group of 45 
countries, which are also members of the 
Asian Development Bank.

	 3. 	Two-thirds of the urban population of 
'developing Asia' lives in the cities of China 
and India.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only

	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3

	 13. 	With reference to the 'Right to be forgotten', 
consider the following statements:

	 1.	  The right to be forgotten refers to the 
ability to limit, delete, or correct misleading 
and irrelevant personal data of a person 
available on the Internet.

	 2. 	There is no legal provision in India relating 
to the right to be forgotten.

	 3.	  The right to be forgotten is no different 
from the right to privacy.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	  2 only 	 (b)	  1 and 2 only

	 (c)	  1, 2 and 3 	 (d) 	 3 only

	 14. 	Consider the following statements in the context 
of ‘Neighbourhood Minus One’, :

	 1. 	In 'Neighborhood minus one', the 'One' 
refers to Pakistan.

	 2. 	It is a part of India's policy to detach 
Pakistan globally.

	 3. 	The policy of 'Neighborhood minus one' 
applies equally on China with Pakistan.

		  Which of the statement(s) given above is/are not 
correct?

	 (a) 	3 only 	 (b)	  2 and 3 only

	 (c) 	1 only	 (d) 	 1 and 3 only
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	15.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ckaXykns'k ds lkFk Hkkjr dh lokZfèkd yach 

varjkZ"Vªh; lhek gS] ftldh yackbZ yxHkx 4096 
fd-eh- gSA

	 2.	 Hkkjr ds vle] v#.kkpy izns'k] flfDde vkSj 

if'pe caxky jkT; ckaXykns'k dh lhek ij 

vofLFkr gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1, u gh 2
	16.	gky gh esa Hkkjr ds izèkkuea=kh vkSj phu ds jk"Vªifr ds 

chp rfeyukMq ds ekeYyiqje esa vukSipkfjd okrkZ dk 

vk;kstu gqvkA ekeYyiqje ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr us ekeYyiqje dks Hkkjr ds ^lkWÝV ikWoj* 

ds izrhd ds :i esa pqukA

	 2.	 ekeYyiqje psUubZ ls yxHkx 60 fdyksehVj nwj 

caxky dh [kkM+h ds dksjkseaMy rV ij fLFkr gSA

	 3.	 ekeYyiqje 'kgj dh LFkkiuk 7oha 'krkCnh esa 
iYyo 'kkld ujflagoeZu izFke us dh FkhA

	      mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	17.	^,DV ukm* ,oa ^izQkbMs iQkWj Ý;wpj* ds lanHkZ esa 

fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 ^,DV ukm* tyok;q ifjorZu ij O;fDrxr dkjZokbZ 

gsrq la;qDr jk"Vª dk oSf'od vkàku gSA

	 2.	 ^izQkbMs iQkWj Ý;wpj*] tyok;q ladV ij dkjZokbZ 

esa deh ds f[kykiQ fojksèk djus ds fy;s xzsrk 

rqucxZ }kjk vxLr 2018 esa LohMu esa 'kq: fd;k 

x;k ,d vkanksyu gSA

	 dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1, u gh 2
	18.	fuEufyf[kr esa ls fdls@fdUgsa jlk;u foKku ds {ks=k esa 

o"kZ 2019 dk ukscsy iqjLdkj yhfFk;e vk;u CkSVjh ds 

fodkl gsrq fn;k x;k\

	 (a)	 tkWu-ch- xqMbuiQ

	 (b)	 ,e- LVSuys fOgfVaxe

	 (c)	 vdhjk ;ksf'kuksa

	 (d)	 la;qDr :i ls mi;qZDr rhuksa dksA

	 15.	  Consider the following statements:
	 1. 	India has the longest international border 

with Bangladesh, which is approximately 
4096 km in length.

	 2. 	The states of Assam, Arunachal Pradesh, 
Sikkim and West Bengal in India are located 
on the border of Bangladesh.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c)	  Both 1 and 2	 (d) 	 Neither 1 nor 2

	 16. 	Recently, the informal dialogue between the Prime 
Minister of India and the President of China was 
held in Mamallapuram, Tamil Nadu. With 
reference to Mamallapuram, consider the following 
statements:

	 1. 	India chose Mamallapuram as a symbol of 
India's 'soft power'.

	 2. 	Mamallapuram is located on the Coromandel 
Coast of the Bay of Bengal, about 60 km far 
from Chennai.

	 3. 	The city of Mamallapuram was established 
by the Pallava ruler Narasimhavarman I in 
the 7th century.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3

	 17.	  Which of the following statement(s) is /are correct 
in the context of  'Act Now' and 'Friday for Future'?

	 1.	  'Act Now' is the global call of the United 
Nations for individual action on climate 
change.

	 2. 	'Friday for Future' is a movement launched 
by Greta Thunberg to protest against the lack 
of action on the climate crisis in Sweden in 
August 2018.

		  Code:
	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2

	 18. 	Who among the following was/were awarded with 
the Nobel Prize for the year 2019 in the field of 
Chemistry for the development of Lithium- ion 
Battery?

	 (a)	  John B. Goodenough
	 (b) 	M. Stanley Whittingham
	 (c) 	Akira Yoshino
	 (d) 	All the above three jointly.
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	19.	gky gh esa ̂ la;qDr jk"Vª tyok;q dkjZokbZ f'k[kj lEesyu 
2019* dk vk;kstu dgk¡ fd;k x;k\

	 (a)	 isfjl	 (b)	 U;w;kWdZ

	 (c)	 ubZ fnYyh	 (d)	chftax

	20.	^xksYMfLeMkbV* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 nf{k.k vizQhdk esa ,d [knku ls fudys ghjs ds 
vanj [kkstk tkus okyk ;g ,d u;k [kfut gSA

	 2.	 bls nf{k.k vizQhdk ds dksiQh,iQksaVsu ikbi uked 
ghjs dh [knku ls fudkyk x;k gSA

	 3.	 bldk ukedj.k vkèkqfud Hkw&jlk;u foKku ds 
tud foDVj eksfjR”k xksYMfLeM~V ds uke ij 
fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	21.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

		  Tokykeq[kh ioZr 		 lacafèkr ns'k

	 1.	 dksg lqYrku	 &	bZjku

	 2.	 ,Vuk	 & 	bVyh

	 3.	 dksVksiSDlh	 &	bDosMksj

	 4.	 Ý;wth;kek	 &	tkiku

	 5.	 ,dkadkxqvk	 &	 fpyh

	 6.	 Økdkrksvk	 &	tkok&lqek=kk

	 	mi;qZDr ;qXeksa esa ls dkSu&ls lgh lqesfyr gSa\

	 (a)	 dsoy 2, 4 vkSj 5

	 (b)	 dsoy 2, 3, 4 vkSj 6

	 (c)	 dsoy 1 vkSj 5

 	 (d)	 1, 2, 3, 4, 5 vkSj 6
	22.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ^ifjiz'kkar es[kyk* fo'o dh lcls foLr`r Hkwdai 
isVh gS] ftlesa fo'o ds yxHkx 63 izfr'kr 
Hkwdaih; {ks=k lfEefyr gSaA

	 2.	 ^eè; egk}hih; es[kyk* fo'o dh nwljh cM+h 
Hkwdaih; isVh gS] tks 21 izfr'kr Hkwdaih; {ks=k dks 
lekfgr djrh gSA 

	 3.	 vykLdk] fiQyhihal] U;w”khySaM vkSj tkiku eè; 
egk}hih; es[kyk esa vofLFkr gSaA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3  	 (d)	 1, 2 vkSj 3

	 19.	  Where was the 'United Nations Climate Action 
Summit 2019' held recently?

	 (a) 	Paris 	 (b)	  New York
	 (c)	  New Delhi 	 (d) 	 Beijing

	 20.	  With reference to the 'Goldschmidtite', consider 
the following statements:

	 1. 	It is a new mineral discovered inside a 
diamond extracted from a mine in South 
Africa.

	 2. 	It is extracted from a diamond mine called 
Koffie Fontein Pipe in South Africa.

	 3. 	It is named after Victor Moritz Goldschmidt, 
the father of modern geochemistry.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only
	 (c)	  2 and 3 only 	 (d) 	 1, 2 and 3

	 21. 	Consider the following pairs: 
	 	 Volcanic 		  Related 
		  Mountains		  Countries
	 1.	  Koh-i-Sultan		  - 	Iran
	 2. 	Etna		  -	 Italy
	 3. 	Cotopaxi		  -	 Ecuador
	 4.	  Fujiyama 		   -	Japan
	 5.	  Aconcagua 		  - 	Chili
	 6. 	Krakatoa		  - 	Java Sumatra

		  Which of the pairs given above are correctly 
matched?

	 (a)	  2, 4 and 5 only 	 (b) 	 2, 3, 4 and 6 only
	 (c) 	1 and 5 only 	 (d) 	 1, 2, 3, 4, 5 and 6

	 22.	  Consider the following statements:
	 1. 	The 'Circum-Pacific belt' is the world's 

largest seismic belt, covering about 63 
percent of the world's seismic zones.

	 2. 	The 'Mid Continental Belt' is the second 
largest seismic belt in the world, covering 
21 percent of the seismic zone.

	 3. 	Alaska, Philippines, New Zealand and 
Japan are located in the mid continental 
belt.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only

	 (c)	  2 and 3 only 	 (d) 	 1, 2 and 3
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	23.	fuEufyf[kr ;qXeksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 1.	 fo'o 'kkafr fnol & 21 flracj

	 2.	 fo'o xSaMk fnol & 22 flracj 

	 3.	 varjkZ"Vªh; lkadsfrd Hkk"kk fnol & 23 flracj

	 4.	 fo'o i;ZVu fnol & 27 flracj

	 5.	 varjkZ"Vªh; o`¼tu fnol & 29 flracj

	 	dwV%

	 (a)	 dsoy 4 vkSj 5	 (b)	 dsoy 5
	 (c)	 dsoy 1, 2 vkSj 3 	 (d)	 dsoy 2, 3 vkSj 4
	24.	^ekWMy Vsusalh vfèkfu;e] 2019* ds mís';ksa esa 'kkfey 

gS@gSa&
	 1.	 edkuksa dks fdjk, ij nsus dh izfØ;k dks 

fofu;fer djus gsrq fdjk;k izkfèkdj.k dh LFkkiuk 
djukA

	 2.	 fdjk,nkjksa ds fgrksa ds eè; larqyu LFkkfir djukA

	 3.	 fdjk;k U;k;ky;ksa vkSj fdjk;k vfèkdj.kksa dh 
LFkkiuk djukA

	 	owQV%

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	25.	^pSafi;al vkWiQ n vFkZ vokWMZ] 2019* ds lanHkZ esa 

fuEufyf[kr ;qXeksa ij fopkj dhft;s%
	 	 iqjLdkj dh Js.kh 		  fotsrk

	 1.	 izsj.kk vkSj dk;Zokgh	 &	vkaV iQkWjsLV % ,d 

	 	 	 	 fMftVy igy

	 2.	 foKku vkSj uokpkj	 &	izksiQslj dSFkfju gsgks

	 3.	 m|e'khyrk n`f"Vdks.k	 &	isVkxksfu;k % vesfjdk 

	 	 	 	 fLFkr diM+k czkaM

	 4.	 uhfr usr`Ro	 &	ujsanz eksnh

	 	mi;qZDr ;qZeksa esa ls dkSu&lk@ls lqesfyr ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2 	 (b)	 dsoy 4
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2, 3 vkSj 4
	26.	^fo'o dfo dkWUxzsl 2019* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 vDVwcj] 2019 esa Hkqous'oj esa fo'o dfo dkWUxzsl 

ds 39osa l=k dk vk;kstu fd;k x;kA 

	 2.	 bl o"kZ dh Fkhe ^dfork ds ekè;e ls d#.kk* 
FkhA

	 3.	 fo'o dfo dkWUxzsl dk vk;kstu dyk vkSj laLÑfr 
dh fo'o vdkneh }kjk fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	 23.	  Which of the following pair(s) is/are not correctly 
matched?

	 1. 	International Day 	 - 	 21st September
		  of Peace 
	 2. 	World Rhino Day 	 - 	 22nd September
	 3.	  International Day 	 - 	 23rd September
		  of Sign Languages	
	 4. 	World Tourism Day 	 - 	 27th September
	 5. 	International Day 	 -		 29th September
		  for Older Persons

Code:
	 (a) 	4 and 5 only	 (b) 	 5 only
	 (c) 	1, 2 and 3 only	 (d) 	 2, 3 and 4 only
	 24. 	The objectives of the 'Model Tenancy Act, 2019' 

includes/include –
	 1. 	To establish the Rent Authority to regulate 

the process of letting out houses.
	 2. 	To establish a balance between the interests 

of tenants.
	 3. 	To establish the Rent Courts and Rent 

Tribunals.
		  Code:
	 (a) 	1 only 	 (b) 	 1 and 2 only
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3
	 25. 	With reference to the 'Champions of the Earth 

Award, 2019', consider the following pairs:
	    Categories of Awards	   Winner

	 1. 	Motivation and Action		 - Ant Forest: For a 
				      Digital Initiative
	 2. 	Science and Innovation	 -Professor Katharine 
				      Hayhoe
	 3. 	Entrepreneurial Vision		 - Patagonia: US-	

		  based textile brand 
	 4. 	Policy Leadership		  - Narendra Modi
		  Which of the pair(s) given above is/are not 

correctly matched?
	 (a) 	1 and 2 only	 (b) 	 4 only
	 (c) 	2 and 3 only 	 (d) 	 1, 2, 3 and 4
	 26. 	With reference to 'World Congress of Poets  2019', 

consider the following statements:
	 1. 	In October, 2019 the 39th session of the 

World Congress of Poets was held in 
Bhubaneswar.

	 2. 	The theme for this year was 'Compassion 
through Poetry'.

	 3. 	The World Congress of Poets is organized 
by the World Academy of Arts and Culture.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3
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	27.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 m".kdfVcaèkh; pØokr ̂ rkitfur* gksrs gSa] ftudk 
fodkl dsoy oSlh egklkxjh; lrg ij gksrk 
gS] ftldk rkieku de&ls&de 27ºC gksA

	 2.	 'khrks".k dfVcaèkh; pØokr ^;kaf=kd tfur* gksrs 
gSa vkSj buds fodkl esa rkieku dh ”;knk Hkwfedk 
ugha jgrhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	28.	^jaxnqe ckS¼ eB* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ;g ,d frCcrh ckS¼ eB gS] tks xsyqXik laiznk; 
ls lacaf/r gSA

	 2.	 18oha lnh esa fufeZr ;g eB yík[k dh lq: 
?kkVh esa fLFkr gSA

	 3.	 lq: ?kkVh ls lq: unh cgrh gS] tks >sye unh 
dh lgk;d unh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 	 (d)	 1, 2 vkSj 3
	29.	^cFkqdEek* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;g vkaèkz izns'k dk jkT; R;ksgkj gS] ftls ikjaifjd 
:i ls jkT; dh efgykvksa }kjk euk;k tkrk gSA

	 2.	 rsyqxq esa cFkqdEek dk vFkZ lk{kkr~ ekr` nsoh dks 
cqykuk gSA

	 3.	 cFkqdEek fo'ks"k:i ls iQwyksa ls fufeZr ,d xqPNk 
gksrk gS] ftls efgykvksa }kjk cukdj rkykc esa 
folftZr fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3
	30.	mnwZ dfork dh ^eflZ;k* ijaijk ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 ^eflZ;k* 'kCn dk vFkZ gS& ^'kksd xhr*] vFkkZr~ 
;s e`rdksa dh ;kn esa fy[ks x, 'kksd xhr gksrs gSaA

	 2.	 eflZ;k ijaijk dk izkjaHk fnYyh vkSj nDdu {ks=k 
esa gqvk] ysfdu y[kuÅ ds uokcksa ds laj{k.k esa 
;g vius loksZPp f'k[kj ij igq¡p xbZA

	 3.	 eflZ;k dfork dk ikB dcZyk ds ;q¼ esa 'kghn 
gq, beke gqlSu dh Le`fr esa izk;% eqgjZe ds 
eghus esa fd;k tkrk gSA

	 27. 	Consider the following statements:
	 1. 	Tropical cyclones are 'heat generated', 

which develop only on oceanic surface with 
the temperature of at least 27ºC.

	 2. 	Temperate cyclones are 'mechanical 
generated' and temperature does not play 
much role in their development.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2

	 28. 	Consider the following statements in the context  
of 'Rangdum Buddhist Monastery' :

	 1. 	It is a Tibetan Buddhist monastery belonging 
to the Gelugpa sect.

	 2. 	It is the 18th century built monastery that is 
situated in Suru Valley of Ladakh.

	 3. 	The Suru River flows through the Suru 
Valley, a tributary of the Jhelum River.

		  Which of the statement(s) given above is/are not 
correct?

	 (a) 	3 only 	 (b) 	 2 and 3 only 
	 (c) 	1 only	 (d) 	 1, 2 and 3

	 29. 	With reference to ‘Bathukamma’, consider the 
following statements:

	 1. 	It is the state festival of Andhra Pradesh, 
which is traditionally celebrated by the 
women of the state.

	 2. 	In Telugu, Bathukamma means to call the 
divine mother goddess.

	 3. 	Bathukamma is a bunch made of flowers 
especially, are made and immersed in the 
pond by women.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 and 3 only 
	 (c) 	3 only	 (d) 	 1, 2 and 3

	 30. 	With reference to the ‘Marsiya’ tradition of urdu 
poetry, consider the following statements:

	 1. 	The word 'Marsiya' means 'elegy', meaning  
these are mourning songs written in the 
memory of dead person.

	 2. 	The Marsiya tradition began in regions 
of Delhi and the Deccan, but reached its 
highest under the patronage of the Nawabs 
of Lucknow.

	 3. 	The recitation of the Marsiya poem is often 
done in the month of Muharram in memory 
of Imam Hussain, who was martyred in the 
Battle of Karbala.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	31.	^;wusLdks ,f'k;k&iz'kkar iqjLdkj* 2019 ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g iqjLdkj ;wusLdks ds ,f'k;k&iz'kkar {ks=kh; 
dk;kZy; }kjk lkaLÑfrd fojklr laj{k.k gsrq fn;k 
tkrk gSA

	 2.	 o"kZ 2019 esa 5 ns'kksa& U;w”khySaM] vkWLVªsfy;k] 
Hkkjr] HkwVku vkSj phu ds 16 LFkyksa dks iqjLÑr 
fd;k x;kA 

	 3.	 Hkkjr ds foØe lkjkHkkbZ iqLrdky; (vkbZ-vkbZ-
,e-] vgenkckn) dks vokWMZ vkWiQ ,Dlhysal 
Js.kh ds rgr iqjLÑr fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3  	 (d)	 1, 2 vkSj 3
	32.	Hkkjr ljdkj ds laLÑfr ea=kky; }kjk vDVwcj 2019 esa 

jk"Vªh; laLÑfr egksRlo ds 10osa laLdj.k dk vk;kstu 
fuEufyf[kr esa ls fdl 'kgj esa fd;k x;k\

	 (a)	 enqjS	 (b)	 tcyiqj

	 (c)	 okjk.klh 	 (d)	 gfj}kj
	33.	Hkkjrh; rVj{kd iksr ^ojkg* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 25 flracj] 2019 dks bl iksr dk psUubZ esa 
tykorj.k fd;k x;kA

	 2.	 bldk fuekZ.k ,d futh {ks=k dh daiuh yklZu 
,aM Vwczks }kjk fd;k x;k gSA

	 3.	 ;g vR;kèkqfud ukSogu] lapkj lsalj vkSj e'khujh 
ls ySl gksus ds lkFk gh iznw"k.k fu;a=k.k midj.kksa 
dks Hkh ys tkus esa l{ke gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 dsoy 3
	34.	^èkzqo dk;ZØe* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;g ̂ izèkkuea=kh uohu f'k{k.k dk;ZØe* gS] ftldh 
'kq#vkr dsanzh; ekuo lalkèku fodkl ea=kky; 
}kjk dh xbZA 

	 2.	 bl dk;ZØe dk mn~ns'; cPpksa dks fpfÉr dj 
mUgsa ns'k Hkj ds mRÑ"V dsanzksa esa iz[;kr fo'ks"kKksa 
}kjk ijke'kZ vkSj f'k{kk iznku dj mudh {kerk 
dk fodkl djuk gSA

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3

	 31. 	With reference to the ‘UNESCO Asia-Pacific 
Awards’ 2019 consider the following statements:

	 1. 	The award is given by UNESCO's Asia-
Pacific Regional Office for Cultural 
Heritage Conservation.

	 2. 	In the year 2019, 16 sites from 5 countries 
i.e. New Zealand, Australia, India, Bhutan 
and China were awarded.

	 3. 	Vikram Sarabhai Library (IIM-Ahmedabad)  
of India was awarded under the Award of 
Excellence category.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c)	  2 and 3 only 	 (d) 	 1, 2 and 3

	 32.	  The 10th edition of the National Culture Festival 
was organized in which of the following cities by 
the Ministry of Culture, Government of India in 
October 2019?

	 (a) 	Madurai	 (b) 	 Jabalpur
	 (c) 	Varanasi	 (d)	  Haridwar

	 33. 	With reference to the Indian Coast Guard Ship 
'Varaha', consider the following statements:

	 1.	  The ship was launched in Chennai on 25 
September, 2019.

	 2. 	It has been built by a private sector company 
Larsen & Toubro (L & T).

	 3. 	It is capable of carrying the latest navigation, 
communication sensors and machinery as 
well as carrying pollution control devices.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1, 2 and 3	 (b) 	 1 and 2 only 
	 (c)	  2 and 3 only 	 (d) 	 3 only

	 34. 	With reference to the ‘DHRUV Programme’, 
consider the following statements:

	 1. 	It is ‘Prime Minister innovative learning 
Programme’, launched by the Union 
Ministry of Human Resource Development.

	 2. 	The objective of this programme is to 
identify those children and develop their 
potential, providing them mentoring and 
education by renowned experts at the 
excellence centres across the country.
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	 3.	 bl dk;ZØe dk uke ̂ èkzqo* rkjs ds uke ij ̂ èkzqo* 
j[kk x;k gS vkSj izR;sd p;fur Nk=k ^èkzqo rkjk* 
dgyk,xkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	35.	^”khjks gaxj pSysat* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ”khjks gaxj pSysat dks czk”khy esa gq, lrr~ fodkl 

ij la;qDr jk"Vª lEesyu esa twu 2012 esa 'kq: 
fd;k x;k FkkA

	 2.	 bldk mn~ns'; [kk| lqj{kk vkSj iks"k.k rFkk 
lekos'kh] fVdkÅ ,oa yphyh Ñf"k iz.kkfy;ksa ds 
egÙo ij laokn gsrq vkSj fo'o dks Hkw[k] dqiks"k.k 
rFkk xjhch&eqDr cukus ds fy;s lHkh fgrèkkjdksa 
dks ,d eap ij ykuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	36.	^oSf'od Hkq[kejh lwpdkad&2019* ds lanHkZ es a 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bl lwpdkad eas Hkkjr 30.3 vadksa ds lkFk 117 

ns'kksa dh lwph esa 102osa LFkku ij gSA

	 2.	 fczDl ns'kksa ds lewg vkSj nf{k.k ,f'k;kbZ ns'kksa esa 
Hkkjr dk izn'kZu lcls [kjkc gSA

	 3.	 fjiksVZ ds vuqlkj] xaHkhj tyok;q eqn~nksa vkSj ;q¼ 
ls ihfM+r Øe'k% ftcwrh ,oa ;eu tSls ns'k Hkh 
bl lwpdkad esa Hkkjr ls csgrj fLFkfr esa gSaA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	37.	^fu{k;* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 ;g ^la'kksfèkr jk"Vªh; Vhch fu;a=k.k dk;ZØe* ds  

rgr Vhch fu;a=k.k gsrq osc&vkèkkfjr jksxh izcaèku 
iz.kkyh gSA

	 2.	 bls jk"Vªh; lwpuk foKku dsanz vkSj fo'o LokLF;  
laxBu ds lg;ksx ls dsanzh; Vhch fMfo”ku] 
LokLF; ,oa ifjokj dY;k.k ea=kky;] Hkkjr ljdkj 
}kjk fodflr fd;k x;k gSA 

	 3.	 ;g jkT; ljdkjksa vkSj la?k jkT; {ks=k iz'kklu }kjk 
ljdkjh LokLF; lqfoèkkvksa rFkk ns'k Hkj esa iathÑr 
futh LokLF; lqfoèkkvksa ds ekè;e ls dk;kZfUor 
fd;k tk jgk gSA

	 3. 	The program is named ‘Dhruva’ after the 
pole star and every selected student to be 
called ‘pole star (Dhruv Tara)’.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3
	 35. 	With reference to the ‘Zero Hunger Challenge’, 

consider the following statements:
	 1. 	The Zero Hunger Challenge was launched 

at the United Nations Conference on 
Sustainable Development in Brazil in June 
2012.

	 2. 	Its objective is to communicate on the 
importance of food security & nutrition and 
inclusive, sustainable & flexible farming 
systems and bring all stakeholders together 
on one platform to make the world hunger, 
malnutrition and poverty-free.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2	 (b) 	 Neither 1 nor 2
	 36. 	With reference to the ‘Global Hunger Index -2019’ 

consider the following statements:
	 1. 	 In this index, India ranks 102nd in the list 

of 117 countries with 30.3 points.
	 2. 	India's performance is the worst among the 

BRICS countries and South Asian countries.
	 3. 	According to the report, countries like 

Djibouti and Yemen, which are suffering 
from severe climatic issues and war, are also 
in better Position than India in this index.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only 	 (d)	  1, 2 and 3
	 37. 	Consider the following statements in the context 

of ‘Nikshay’ :
	 1. 	It is a web-based patient management 

system for TB control under the 'Revised 
National TB Control Program'.

	 2. 	It has been developed by the Central 
TB Division, Ministry of Health and 
Family Welfare, Government of India in 
collaboration with National Informatics 
Center and World Health Organization.

	 3. 	It is being implemented by the State 
Governments and the Union Territory 
Administration through government health 
centres and private health centres registered 
across the country.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 1, 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3 	 (d)	 dsoy 3
	38.	^Ldwy f'k{kk xq.koÙkk lwpdkad* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g lwpdkad ,d lexz lwpdkad gS] ftls ekuo 

lalkèku fodkl ea=kky;] fo'o cSad rFkk bl {ks=k 
ds izeq[k fgrèkkjdksa ds ijke'kZ ls rS;kj fd;k 
x;k gSA

	 2.	 ;g lwpdkad 30 egÙoiw.kZ ladsrdksa ij vkèkkfjr 
gS] tks xq.koÙkkiw.kZ f'k{kk ds forj.k dk vkdyu 
djrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	39.	^xxu ifj;kstuk* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ;g ,,vkbZ vkSj bljks dh ,d rhu pj.kh; 

la;qDr ifj;kstuk gSA

	 2.	 bl iz.kkyh dk mi;ksx ukxfjd mM~M;u dh lw{e 
vko';drkvksa dks iwjk djus gsrq thih,l dh 
'kq¼rk vkSj lexzrk esa o`f¼ ds fy;s fd;k 
tkrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	40.	fuEufyf[kr flapkbZ o tyfo|qr ifj;kstukvksa ds lanHkZ 

esa fopkj dhft;s%
	 1.	 bafnjk lkxj ifj;kstuk

	 2.	 xkaèkh lkxj ifj;kstuk

	 3.	 ekgs'oj ifj;kstuk

	 4.	 vksadkjs'oj ifj;kstuk

	 5.	 vYekVh ifj;kstuk

	 	mi;qZDr ifj;kstukvksa esa ls fdldk@fdudk lacaèk dukZVd 
ls gS\

	 (a)	 3, 4 vkSj 5	 (b)	 dsoy 5
	 (c)	 dsoy 1, 2 vkSj 4  	 (d)	 1, 2, 3, 4 vkSj 5
	41.	^dkyh ;k jsxqj e`nk* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 bl feV~Vh esa yksgk] ,Y;qfefu;e] iksVk'k ,oa pwus 
dh vfèkdrk gksrh gSA

	 2.	 ^fVVkfuiQsjl eSXusVkbV* yo.kksa dh mifLFkfr ds 
dkj.k bl feV~Vh dk jax dkyk gksrk gSA

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1, 2 and 3
	 (c) 	1 and 3 only 	 (d) 	 3 only

	 38. 	With reference to the ‘School Education Quality 
Index’, consider the following statements: 

	 1. 	This index is a composite index, prepared 
in consultation with the Ministry of Human 
Resource Development, the World Bank 
and related core stakeholders in the region.

	 2. 	The index is based on 30 important 
indicators that evaluate the delivery of 
quality education.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2	 (b) 	 Neither 1 nor 2

	 39.	  With reference to the ‘Gagan Project’, consider 
the following statements: 

	 1. 	It is a three-phase joint project of AAI and 
ISRO.

	 2. 	This system is used to increase the accuracy 
and integrity of GPS to meet the microscopic 
needs of civil aviation.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2	 (b)	  Neither 1 nor 2

	 40.	  Consider the following in the context of irrigation 
and hydropower projects:

	 1. 	Indira Sagar Project
	 2. 	Gandhi Sagar Project
	 3. 	Maheshwar Project
	 4. 	Omkareshwar Project
	 5. 	Almatti Project

		  Which of the project(s) given above is/are related 
to Karnataka?

	 (a) 	3, 4 and 5 only 	 (b)	  5 only
	 (c) 	1, 2 and 4 only	 (b) 	 1, 2, 3, 4 and 5 

	 41. 	With reference to ‘Black or Regur Soil’, consider 
the following statements:

	 1. 	This soil is rich in iron, aluminium, potash 
and lime.

	 2. 	The colour of this soil is black due to the 
presence of 'titaniferous magnetite' salts 
particles.
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	 3.	 bl e`nk dk lokZfèkd foLrkj fcgkj] >kj[kaM 
vkSj if'pe caxky esa gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	42.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 egkjRu daifu;k¡ 		     eq[;ky;

	 1.	 LVhy vFkkWfjVh vkWiQ bafM;k &  jk¡ph

	 2.	 bafM;u vkW;y	 		  &  caxyw:

	 3.	 dksy bafM;k fyfeVsM      &  dksydkrk

	 4.	 ,uVhihlh	    	&  ubZ fnYyh

	 5.	 vks,uthlh	 		  &  nsgjknwu

	 	mi;qZDr ;qXekas esa ls dkSu&ls lqesfyr ugha gSa\

	 (a)	 dsoy 4 vkSj 5	 (b)	 dsoy 1, 2 vkSj 3

	 (c)	 dsoy 2, 4 vkSj 5 	 (d)	 1, 2, 3, 4 vkSj 5

	43.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 jk"Vªh; jktekxZ la[;k&31 ,dek=k jk"Vªh; jktekxZ 

gS] tks mÙkj&iwohZ Hkkjrh; jkT;ksa dks 'ks"k Hkkjr ls 

tksM+rk gSA

	 2.	 jk"Vªh; jktekxks± ds fodkl vkSj j[kj[kko dh 

f”kEesnkjh jkT; ljdkjksa dh gSA

	 3.	 Hkkjr eas jk"Vªh; jktekxZ dqy lM+dksa dk ek=k 

11.7 izfr'kr gSaA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2 	 (d)	 1, 2 vkSj 3

	44.	^xksnkojh&Ñ".kk fyad ifj;kstuk* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 ;g ifj;k stuk egkunh&xk snkojh&Ñ".kk& 

isUukj&dkosjh&oSxbZ unh tksM+ks ifj;kstuk dk ,d 

fgLlk gSA	

	 2.	 Ñ".kk vkSj xksnkojh ufn;ksa dks ugj ds ”kfj;s 

tksM+us okyh bl ifj;kstuk dk uke ^iV~Vhlhek* 

gSA

	 3.	 ^iV~Vhlhek*] fjokb”M us'kuy fjoj baVjfyafdax 

ds rgr iwjh gksus okyh igyh ifj;kstuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3

	 3. 	The largest extent of this soil is in Bihar, 
Jharkhand and West Bengal.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3

	 42. 	Consider the following pairs:
		  Maharatna 		     Headquarters
		  Companies
	 1. 	Steel Authority of India 	 - Ranchi
	 2. 	Indian Oil 		  - Bangalore
	 3. 	Coal India Limited 		  - Kolkata
	 4. 	NTPC 		  - New Delhi
	 5 	ONGC 		  - Dehradun

		  Which of the pairs given above are not correctly 
matched?

	 (a) 	4 and 5 only	 (b) 	 1, 2 and 3 only
	 (c) 	2, 4 and 5 only	 (d) 	 1, 2, 3, 4 and 5

	 43. 	Consider the following statements:
	 1. 	National Highway -31 is the only national 

highway that connects the north-eastern 
Indian states with the rest of India.

	 2. 	The development and maintenance of 
national highways is the responsibility of 
the state governments.

	 3. 	National highways constitute only 11.7% of 
the total roads in India.

		  Which of the statement(s) given above is/are not 
correct?

	 (a) 	2 only 	 (b)	  2 and 3 only  
	 (c)	  1 and 2 only	 (d)	  1, 2 and 3

	 44.	  With reference to the 'Godavari-Krishna link 
project', consider the following statements:

	 1. 	This project is a part of the Mahanadi-
Godavari-Krishna-Pennar-Cauvery-Vaigai 
river link project.

	 2. 	The name of the project connecting the 
Krishna and Godavari rivers through the 
canal is 'Pattiseema project'.

	 3. 	Pattiseema project is the first project to be 
completed under Revised National River 
Interlinking.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b)	  1 and 2 only
	 (c)	  3 only 	 (d) 	 1, 2 and 3
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	45.	fuEufyf[kr ufn;ksa ij fopkj dhft;s%

	 1.	 lkaxiks	 2.	 fngkax

	 3.	 tequk	 4.	es?kuk

	 	mi;qZDr uke fuEufyf[kr esa ls fdl unh dks lanfHkZr 

djrs gSa\

	 (a)	 xaxk	 (b)	 czãiq=k 

	 (c)	 flaèkq 	 (d)	 >sye

	46.	fuEufyf[kr esa ls dkSu&lh >hy fgekpy izns'k esa gS\

	 (a)	 lkrrky	 (b)	 MksMhrky

	 (c)	 panzrky 	 (d)	 ukSoqQfp;krky

	47.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vjc lkxj esa fxjus okyh vfèkdka'k ufn;k¡ MsYVk 

dk fuekZ.k djrh gSaA

	 2.	 Hkkjr esa ekykckj rV lkxjh; rjaxksa }kjk vijnu 

ls lokZfèkd izHkkfor gSA 

	 3.	 vksfM'kk o vkaèkz izns'k ds rVorhZ eSnkuksa dks 

mRdy rV] dfyax rV ;k mÙkjh ljdkj dgk 

tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	48.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Fkky?kkV njkZ] ukfld dks eqacbZ ls tksM+rk gSA

	 2.	 Hkksj?kkV njkZ] eqacbZ dks iq.ks ls tksM+rk gSA

	 3.	 iky?kkV njkZ] dsjy dks rfeyukMq ls tksM+rk gSA

	 4.	 ckM+&ykpk yk njkZ] fgekpy izns'k dks d'ehj 

ls tksM+rk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2 	 (b)	 dsoy 3

	 (c)	 dsoy 2, 3 vkSj 4 	 (d)	 1, 2, 3 vkSj 4
	49.	^izoky fHkfÙk* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 izoky fHkfÙk dk fuekZ.k ewaxs ;k dksjy ikWfyi ds 

pwuk;qDr vfLFk&iatjksa }kjk gksrk gSA

	 2.	 vfèkdka'k izoky fHkfÙk;k¡ l¡djs egk}hih; eXurVh; 

{ks=kksa esa ikbZ tkrh gSaA 

	 3.	 izokyksa dks ̂ lkeqfnzd o"kkZ ou* Hkh dgk tkrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	 45. 	Consider the following rivers:
	 1. 	Tsangpo	 2. 	 Dihang
	 3. 	Jamuna	 4. 	 Meghna

		  Which of the following river is referred above?
	 (a) 	Ganges 	 (b) 	 Brahmaputra
	 (c) 	Indus 	 (d) 	 Jhelum

	 46. 	Which of the following lakes is located in 
Himachal Pradesh?

	 (a) 	Sattal	 (b) 	 Dodital
	 (c) 	Chandratal 	 (d) 	 Naukuchiatal

	 47. 	Consider the following statements:
	 1. 	Most of the rivers falling in the Arabian Sea 

forms deltas.
	 2. 	The Malabar coast is most affected by 

erosion by ocean waves in India.
	 3. 	The coastal plains of Odisha and Andhra 

Pradesh are called Utkal coast, Kalinga 
coast or Northern circar.

		  Which of the statement(s) given above is/are not 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3

	 48. 	Consider the following statements:
	 1. 	Thalghat Pass connects Nashik to Mumbai.
	 2. 	Bhorghat Pass connects Mumbai to Pune.
	 3. 	Palghat Pass connects Kerala to Tamil 

Nadu.
	 4. 	The Bara-lacha La Pass connects Himachal 

Pradesh to Kashmir.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 2 only	 (b) 	 3 only
	 (c) 	2, 3 and 4 only 	 (d) 	 1, 2, 3 and 4

	 49. 	With reference to ‘Coral reef’, consider the 
following statements:

	 1.	  The coral reefs are formed by the limestone 
skeletons of coral or coral polyps.

	 2.	  Most of the coral reefs are found in narrow 
continental coastal areas.

	 3.	  Coral reefs are also called the ‘rainforests 
of the sea’.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3



15lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 8750187501, 011-47532596

bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	50.	^Tokj&HkkVk* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 lkxjh; ty ds Åij mBus dh ?kVuk dks ^Tokj* 
rFkk mlds uhps fxjus dh ?kVuk dks ^HkkVk* 
dgrs gSaA 

	 2.	 Tokj&HkkVk i`Foh] panzek vkSj lw;Z dh ikjLifjd 
vkd"kZ.k fØ;k rFkk i`Foh ds ?kw.kZu ls mRiUu 
vidsanzh; cy ds lfEefyr izHkko ds dkj.k 
mRiUu gksrs gSaA 

	 3.	 panzek dk Tokj mRiknd cy lw;Z ds Tokj mRiknd 
cy dk nksxquk gksrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 1] 2 vkSj 3

	 (c)	 dsoy 2 vkSj 3 	 (d)	 dsoy 3 
	51.	^eè; vVykafVd dVd* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 eè; vVykafVd dVd vVykafVd egklkxj dks 

nks Hkkxksa esa ck¡Vrk gSA

	 2.	 bl dVd ds mÙkjh foLrkj dks ̂ MkWfYiQu dVd* 
rFkk nf{k.kh foLrkj dks ̂ pSysatj dVd* dgrs gSaA

	 3.	 vkblySaM eè; vVykafVd dVd dk ,d Hkkx gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	52.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 egklkxjh; èkkjk,¡ iQsjsy ds fu;e dk vuqlj.k 

dj mÙkjh xksyk¼Z esa viuh ckb± vksj eqM+dj 
izokfgr gksrh gSaA

	 2.	 xeZ tyèkkjk,¡ tgk¡ lacafèkr {ks=k esa o"kZ.k dh 
rhozrk dks c<+krh gSa] ogha BaMh tyèkkjk,¡ lacafèkr 
{ks=k esa mPp ok;qnkc dh n'kk l`ftr dj 
e#LFkyhdj.k dks c<+krh gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	53.	gky gh esa f=kiqjk mPp U;k;ky; us jkT; ds eafnjksa esa 

i'kq cfy dh ijaijk ij izfrcaèk yxk fn;kA bl lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 i'kq cfy dh ijaijk dks lafoèkku ds vuqPNsn&25(1) 
ds rgr lajf{kr ugha fd;k tk ldrk gSA

	 2.	 i'kq cfy vuqPNsn&21 (thou dk vf/dkj) dk 
mYya?ku gSA

	 3.	 èkkfeZd ijaijk,¡] i'kq Øwjrk fuokj.k vfèkfu;e] 
1960 ds izkoèkkuksa dh vogsyuk ugha dj ldrhaA 

	 50.	  Consider the following statements in the context 
of 'tide':

	 1. 	The rise of ocean water is called the ‘tide’ 
and the fallen called 'ebb tide'.

	 2. 	Tides are caused by the combined effects 
of the mutual interaction of the Earth, the 
Moon and the Sun and the centrifugal force 
released during the rotation of the Earth.

	 3. 	The tidal generating force of the Moon is 
twice the tidal force of the Sun.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 2 only 	 (b) 	 1, 2 and 3
	 (c) 	2 and 3 only 	 (d) 	 3 only

	 51. 	With reference to the 'Mid Atlantic Ridge', consider 
the following statements:

	 1. 	The Mid Atlantic Ridge divides the Atlantic 
Ocean into two parts.

	 2. 	The northern extension of this ridge is called 
'Dolphin ridge' and the southern extension 
is called 'Challenger ridge'.

	 3. 	Iceland is a part of the Mid Atlantic Ridge.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3

	 52. 	Consider the following statements:
	 1. 	Ocean currents flow to their left in the 

northern hemisphere, following Ferrell's 
law.

	 2. 	While warm streams increase the intensity 
of precipitation in the concerned area, cold 
streams increase desertification by creating 
high air pressure conditions in the respective 
area.

		  Which of the statement(s) given above is/are not 
correct?

	 (a) 	1 only 	 (b)	  2 only
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2 

	 53.	  Recently, the Tripura High Court banned the 
tradition of animal sacrifice in the temples of the 
state. In this context, consider the following 
statements:

	 1. 	The tradition of animal sacrifice cannot 
be protected under Article-25 (1) of the 
Constitution.

	 2. 	Animal sacrifice is a violation of Article 21 
(Right to life).

	 3. 	The religious traditions cannot violate the 
provisions of the Prevention of Cruelty to 
Animals Act, 1960.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	54.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjrh; lafoèkku ds vuqPNsn&72 esa iznÙk 'kfDr;ksa 

dk iz;ksx djrs gq, Hkkjr dk jk"Vªifr dqN ekeyksa 

esa vijkèk ds fy;s nks"kh Bgjk, x, O;fDr dks 

{kek dj ldrk gSA

	 2.	 vuqPNsn&161 esa jkT; dh dk;Zikfydk 'kfDr ls 

lacafèkr fo"k;kas ij vijkèk ds ekeyksa esa jkT; ds 

jkT;iky dh {keknku 'kfDr;ksa dk mYys[k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2

	55.	^,e gfj;kyh eksckby ,i* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 bl eksckby ,i dks vkokl ,oa 'kgjh fodkl 

ea=kky; }kjk ubZ fnYyh esa ykWUp fd;k x;kA

	 2.	 bldk mn~ns'; ljdkjh dkWyksfu;ksa ds i;kZoj.k 

dks lajf{kr djuk rFkk yksxksa dks ikSèks yxkus ,oa 

bl rjg ds vU; gfjr mik; djus ds fy;s izsfjr 

djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2

	56.	^lkxjh; yo.krk* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 va'kr% ;k iw.kZr% can lkxjksa dh vis{kk [kqys 

lkxjksa eas yo.krk de gksrh gSA

	 2.	 lkekU;r% xgjkbZ dh o`f¼ ds lkFk yo.krk esa 

deh ntZ dh tkrh gSA

	 3.	 rkieku dk yo.krk ls lhèkk lacaèk gksrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 dsoy 1 vkSj 3 	 (d)	 1, 2 vkSj 3
	57.	^èkeZ xkftZ;u 2019* fuEufyf[kr esa ls fdu nks ns'kksa 

ds chp gksus okyk la;qDr lSU;kH;kl gS\

	 (a)	 Hkkjr vkSj tkiku

	 (b)	 Hkkjr vkSj Jhyadk

	 (c)	 Hkkjr vkSj usiky

 	 (d)	 Hkkjr vkSj :l

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3

	 54. 	Consider the following statements:
	 1. 	While using the powers given in Article-72 

of the Constitution of India, the President of 
India can pardon a person convicted for an 
offence in certain cases.

	 2. 	Article-161 mentions the pardoning powers 
of the Governor of the state in the cases of 
crime related to the executive power of the 
state.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c)	  Both 1 and 2	 (d) 	 Neither 1 nor 2

	 55. 	With reference to the 'm Hariyali mobile app', 
consider the following statements: 

	 1. 	This mobile app was launched by 
the Ministry of Housing and Urban 
Development in New Delhi.

	 2. 	Its objective is to conserve the environment 
of government colonies and motivate 
people to plant trees and take other such 
environmental measures.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2

	 56. 	With reference to the 'ocean salinity', consider the 
following statements: 

	 1. 	Salinity in the open sea is lower in comparision 
of partially or fully closed seas.

	 2. 	A decrease in salinity is usually recorded 
with increase in depth.

	 3. 	There is a direct relationship between 
temperature and salinity.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	1 and 3 only 	 (d) 	 1, 2 and 3

	 57. 	‘Dharma Guardian  2019’ is a joint exercise 
between which of the following countries?

	 (a) 	India and Japan 
	 (b) 	India and Sri Lanka
	 (c) 	India and Nepal 
	 (d) 	India and Russia
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	58.	^Hkkjr ds egkU;k;oknh* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 egkU;k;oknh dh fu;qfDr izèkkuea=kh ds }kjk dh 

tkrh gSA 

	 2.	 Hkkjr dk egkU;k;oknh Hkkjr ljdkj dh vuqefr 

ds cxSj fdlh Hkh vkijkfèkd ekeys esa O;fDr 

dk cpko ugha dj ldrkA

	 3.	 Hkkjrh; lafoèkku ds vuqPNsn&76 esa Hkkjr ds 

egkU;k;oknh in dh O;oLFkk dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	59.	^lkoZHkkSfed LokLF; dojst* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 23 flracj] 2019 dks lkoZHkkSfed LokLF; dojst 

ij la;qDr jk"Vª dh mPpLrjh; cSBd dk vk;kstu 

fd;k x;kA

	 2.	 ;g cSBd ^lkoZHkkSfed LokLF; dojst% ,d 

LoLFk nqfu;k cukus ds fy;s ,d lkFk vkxs c<+uk* 

dh Fkhe ds rgr vk;ksftr dh xbZ FkhA

	 3.	 lkoZHkkSfed LokLF; dojst dk vFkZ gS& ns'k esa 

jgus okys lHkh yksxksa vkSj leqnk;ksa dh xq.koÙkkiw.kZ 

LokLF; lsokvksa rd lerkiw.kZ igq¡p gksA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 1] 2 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 3

	60.	^oSxbZ unh* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 oSxbZ unh dk mn~xe enqjS f”kys ls gksrk gS vkSj 

;g iwoZ fn'kk esa cgrs gq, caxky dh [kkM+h esa  

fxjrh gSA 

	 2.	 oSxbZ unh nzks.kh dkosjh unh vkSj dU;kdqekjh ds 

eè; vofLFkr 12 egÙoiw.kZ nzksf.k;ksa esa ls ,d 

gSA 

	 3.	 bldk csflu iwoZ esa ikd tyMe:eè; vkSj 

if'pe esa byk;ph rFkk ikyuh igkfM+;ksa ls f?kjk 

gqvk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	 58. 	With reference to the 'Attorney General of India', 
consider the following statements:

	 1. 	The Attorney General is appointed by the 
Prime Minister.

	 2. 	The Attorney General of India cannot 
defend a person in any criminal case without 
the permission of the Government of India.

	 3. 	In Article-76 of the Indian Constitution 
there is a Provision for the post of Attorney 
General of India.

		  Which of the statement(s) given above is/are not 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3

	 59. 	With reference to ‘Universal Health Coverage’, 
consider the following statements:

	 1. 	United Nations General Assembly held 
a high-level meeting on universal health 
coverage on 23 September, 2019.

	 2. 	The meeting was organized under the theme 
of 'Universal Health Coverage: Moving 
together to Create a Healthier World'.

	 3. 	Universal health coverage means that 
all people and communities living in the 
country have equal access to quality health 
services.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 2 only	 (b) 	 1, 2 and 3
	 (c) 	2 and 3 only 	 (d) 	 3 only 

	 60. 	With reference to ‘Vaigai River’, consider the 
following statements:

	 1. 	The Vaigai River originates in the Madurai 
district and while flowing eastward it falls 
into the Bay of Bengal.

	 2. 	The Vaigai River basin is one of the 12 
important basins situated between the 
Kaveri River and Kanyakumari.

	 3. 	Its basin is surrounded by the Palk Strait in 
the east and the Cardamom and Palani hills 
in the west.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3
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	61.	^dsanzhÑr yksd f'kdk;r fuokj.k vkSj fuxjkuh iz.kkyh* 
ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g ,d vkWuykbu osc&vkèkkfjr iz.kkyh gS] ftls 
jk"Vªh; lwpuk foKku dasnz (,uvkbZlh) }kjk yksd 
f'kdk;r funs'kky; vkSj iz'kklfud lqèkkj ,oa 
yksd f'kdk;r foHkkx ds lg;ksx ls fodflr 
fd;k x;k gSA

	 2.	 ;g iz.kkyh fdlh Hkh LFkku ls vkWuykbu f'kdk;r 
ntZ djus dh lqfoèkk iznku djrh gSA

	 3.	 gky gh esa Mkd foHkkx esa bldk ,d u;k 
laLdj.k ykWUp fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 3 	 (d)	 1, 2 vkSj 3
	62.	gky gh esa Hkkjr ds j{kk ea=kh jktukFk flag }kjk LdkWihZu 

Js.kh dh nwljh iuMqCch vkbZ,u,l [kaMsjh dk tykorj.k 
fd;k x;kA vkbZ,u,l [kaMsjh ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g xgjs leqnz esa fcuk vkok”k fd;s 12]000 
fdeh- rd liQj dj ldrh gSA

	 2.	 bl iuMqCch dk fuekZ.k e>xk¡o MkWd f'kifcYMlZ 
fyfeVsM esa 7 vizSy] 2009 dks 'kq: gqvk FkkA 

	 3.	 bls ^[kaMsjh* uke ejkBk lsuk ds }hih; fdys ds 
uke ij fn;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 1] 2 vkSj 3

	 (c)	 dsoy 2 	 (d)	 dsoy 3
	63.	^y?kq m|ksxksa ij varjkZ"Vªh; Je laxBu* dh fjiksVZ ds 

lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 fjiksVZ ds vuqlkj] Hkkjr esa yxHkx 85 izfr'kr 

Jfed Lo&fu;ksftr gSaA

	 2.	 Lojks”kxkj dh fLFkfr esa nf{k.k ,f'k;k rhljs LFkku 
ij gSA 

	 3.	 fjiksVZ ds vuqlkj nf{k.k ,f'k;k vkSj mi&lgkjk 
vÚhdk esa yxHkx 95 izfr'kr Ñf"k {ks=k dk 
jks”kxkj vukSipkfjd gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	64.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr vkSj ckaXykns'k vkil esa 54 ufn;k¡ lk>k 
djrs gSaA 

	 2.	 ckaXykns'k nf{k.k ,f'k;k esa Hkkjr dk lcls cM+k 
O;kikfjd Hkkxhnkj gSA

	 61. 	With reference to the ‘Centralized Public 
Grievance Redressal and Monitoring System’, 
consider the following statements:

	 1. 	It is an online web-based system, developed 
by the National Informatics Center (NIC) 
in collaboration with the Directorate of 
Public Grievances and the Department 
of Administrative Reforms & Public 
Grievances.

	 2. 	This system provides the facility to file 
complaints online from any location.

	 3. 	Recently, a new version of it has been 
launched in the postal department.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	1 and 3 only 	 (d) 	 1, 2 and 3
	 62.	  Recently, the second Scorpene class submarine 

INS Khanderi was commissioned by India's 
Defense Minister Rajnath Singh. With reference 
to INS Khanderi, consider the following statements:

	 1. 	It can travel up to 12,000 km. without 
making any sound in the deep sea.

	 2. 	The construction of this submarine started 
at Mazagon Dock Shipbuilders Limited on 
7 April, 2009.

	 3. 	It is named 'Khanderi' after the island fort of 
the Maratha army.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 3 only 	 (b) 	 1, 2 and 3 
	 (c) 	2 only 	 (d) 	 3 only 
	 63.	  With reference to the report of the ‘International 

Labour Organization on Small Scale Industries’, 
consider the following statements:

	 1. 	According to the report, about 85 per cent of 
the workers in India are self-employed.

	 2. 	South Asia ranks third in terms of self-
employment.

	 3. 	According to the report, about 95 per cent 
of agricultural sector employment in South 
Asia and Sub-Saharan Africa is informal.

		  Which of the statement(s) given above is/are not 
correct?

	 (a) 	2 only 	 (b) 	 1 and 3 only
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3

	 64. 	Consider the following statements:
	 1. 	India and Bangladesh share 54 rivers 

mutually.
	 2. 	Bangladesh is India's largest trading partner 

in South Asia.
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	 3.	 Hkkjr us ckaXykns'k dks o"kZ 2010 ls vc rd 8 
fcfy;u MkWyj dh 3 ykbu vkWiQ ØsfMV 
(,yvkslh) nh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	65.	^,fjFkzksiksbfVu* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ^,fjFkzksiksbfVu*] eq[;:i ls xqnsZ dh dksf'kdkvksa 
}kjk mRikfnr gkWeksZu gS] tks yky jDr dksf'kdkvksa 
ds mRiknu dks c<+kus esa lgk;rk djrk gSA

	 2.	 Øksfud fdMuh jksx ds dkj.k jDrkYirk ds f'kdkj 
yksxksa esa ,fjFkzksiksbfVu dk mi;ksx jDr esa 
vkWDlhtu dk Lrj c<+kus gsrq fd;k tkrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	66.	^Lons'kh b±èku lsy iz.kkyh* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 26 flracj] 2019 dks ns'k dh igyh mPp rkieku 
vkèkkfjr Lons'kh b±èku lsy iz.kkyh dk vukoj.k 
fd;k x;kA

	 2.	 ;g b±èku lsy ^mPp rkieku izksVkWu fofue; 
f>Yyh* izkS|ksfxdh ij vkèkkfjr gSA

	 3.	 oSKkfud vkSj vkS|ksfxd vuqlaèkku ifj"kn us 
Hkkjrh; m|ksxksa dh lk>snkjh esa ^U;w feysfu;e 
bafM;u VsDuksykWth yhMjf'ki bfuf'k,fVo* uked 
,d izeq[k dk;ZØe ds rgr bl iz.kkyh dk 
fodkl fd;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1] 2 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 3 	 (d)	 dsoy 1 vkSj 2
	67.	yhfFk;e vk;u cSVjh ds lanHkZ esa fuEufyf[kr dFkuksa 

esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 lhlk cSVjh dh rqyuk esa bldk o”ku de gksrk gSA

	 2.	 bl cSVjh dh pkft±x vkSj fMLpkft±x] nksuksa esa 
n{krk 100% gSA

	 3.	 i;kZoj.k ij bldk dksbZ gkfudkjd izHkko ugha 
gksrk gSA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 1] 2 vkSj 3

	 (c)	 dsoy 3 	 (d)	 dsoy 1 vkSj 2

	 3. 	India has given 3 lines of credit (LOC) 
worth $ 8 billion to Bangladesh since 2010.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3

	 65. 	Consider the following statements in the context 
of the 'Erythropoietin':

	 1. 	'Erythropoietin' is a hormone produced 
primarily by kidney cells, which helps to 
increase the production of red blood cells.

	 2. 	Erythropoietin is used to increase oxygen 
levels in the blood in people suffering from 
anaemia due to chronic kidney disease.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2

	 66. 	With reference to ‘Indigenous fuel cell system’, 
consider the following statements:

	 1. 	The nation's first high-temperature based 
indigenous fuel cell system was unveiled on 
September 26, 2019.

	 2. 	This fuel cell is based on 'high- temperature 
proton exchange membrane' technology.

	 3. 	The Council of Scientific and Industrial 
Research has developed the system under 
a major program called 'New Millennium 
Indian Technology Leadership Initiative' in 
partnership with Indian industries.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1, 2 and 3	 (b) 	 2 only
	 (c) 	3 only 	 (d) 	 1 and 2 only

	 67. 	Which of the following statement(s) is/are correct 
in the context of lithium- ion battery? 

	 1. 	It has less weight as compared to lead 
battery.

	 2. 	The efficiency of both charging and 
discharging of this battery is 100%.

	 3. 	It has no harmful effect on the environment.

		  Code:
	 (a) 	1 only 	 (b) 	 1, 2 and 3 
	 (c) 	3 only 	 (d) 	 1 and 2 only 
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	68.	gky gh esa fdl jkT; dh ljdkj us ok;q iznw"k.k dks 
de djus gsrq ikfVZdqysV eSVj mRltZu esa O;kikj ds 
fy;s fo'o dk igyk VªsfMax IysViQkWeZ ykWUp fd;k gS\

	 (a)	 xqtjkr	 (b)	 egkjk"Vª

	 (c)	 fcgkj	 (d)	 mÙkj izns'k
	69.	^iQksVksdSVfyLV* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ;s ,sls inkFkZ gksrs gSa] tks ijkcSaxuh fdj.kksa okys 

lw;Z ds izdk'k dh mifLFkfr esa gkfudkjd inkFkks± 
dks fo?kfVr dj nsrs gSaA

	 2.	 ;g dkcZfud iznw"kdksa dks fo?kfVr dj ldrk gS 
rFkk ;g iznwf"kr ty dks LoPN ty esa cnyus 
dk ykxr izHkkoh mik; lkfcr gks ldrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	70.	gky gh esa pfpZr fi”kksy Xysf'k;j] tks oSf'od rkiu 

ds dkj.k rs”kh ls fi?kydj lekfIr dh fLFkfr esa igq¡p 
pqdk gS_ fuEufyf[kr esa ls dgk¡ fLFkr gS\

	 (a)	 fLoV~”kjySaM	 (b)	 xzhuySaM

	 (c)	 U;w”khySaM 	 (d)	 dukMk
	71.	^iQkWjsLV&Iyl 2.0 dk;ZØe* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 iQkWjsLV&Iyl 2.0 fVdkÅ ou ifjn`'; izcaèku ds 

mn~ns'; ij vkèkkfjr ik;yV izkstsDV iQkWjsLV&Iyl 
dk nwljk laLdj.k gSA

	 2.	 iQkWjsLV&Iyl fnlacj 2018 esa 'kq: fd;k x;k 
ik¡p o"khZ; dk;ZØe gSA

	 3.	 iQkWjsLV&Iyl 2.0 esa rhu Hkw&ifjn`';ksa esa ik;yV 
izkstsDV~l 'kkfey gSa& fcgkj esa x;k] dsjy esa 
fr#ouariqje vkSj rsyaxkuk esa esMdA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	72.	^tyok;q lqHks|rk ekufp=k* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 bl ekufp=k dk fodkl ^foKku vkSj izkS|ksfxdh 

foHkkx* rFkk ^fLol ,tsalh iQkWj MsoyiesaV ,aM 
dksvkWijs'ku* dh ,d la;qDr ifj;kstuk ds rgr 
fd;k tk jgk gSA

	 2.	 Hkkjrh; fgeky;h {ks=k ds varxZr vkus okys 12 
jkT;ksa ds fy;s bl rjg dh tyok;q lqHks|rk 
ekufp=k dks igys ls gh ,d lkekU; <k¡ps dk 
mi;ksx djrs gq, fodflr fd;k tk pqdk gSA 

	 68. 	Which state government has recently launched the 
world's first trading platform for trading in 
particulate matter emissions to reduce air pollution?

	 (a) 	Gujarat 	 (b) 	 Maharashtra
	 (c) 	Bihar 	 (d) 	 Uttar Pradesh

	 69. 	With reference to ‘Photocatalyst’, consider the 
following statements:

	 1. 	These are substances that decompose 
harmful substances in the presence of 
ultraviolet rays of sunlight.

	 2. 	It can decompose organic pollutants and 
can prove to be a cost-effective way of 
converting polluted water into clean water.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2

	 70. 	Pizol Glacier, recently seen in the news, has 
reached a state of rapid melting/ loss due to global 
warming; Where is it located from the following?

	 (a) 	Switzerland 	 (b) 	 Greenland
	 (c) 	New Zealand 	 (d) 	 Canada

	 71. 	With reference to the 'Forest-PLUS 2.0 Program', 
consider the following statements:

	 1. 	Forest-PLUS 2.0 is the second set of the pilot 
project Forest-PLUS based on the goal of 
sustainable forest landscape management.

	 2. 	Forest-PLUS is a five-year program 
launched in December 2018.

	 3. 	The Forest-PLUS 2.0 comprises pilot 
projects in three landscape - Gaya in Bihar, 
Thiruvananthapuram in Kerala and Medak 
in Telangana.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3

	 72. 	With reference to the 'Climate Vulnerability Map' 
consider the following statements:

	 1. 	The map is being developed under a joint 
project of the 'Department of Science and 
Technology' and the Swiss Agency for 
Development and Cooperation.

	 2. 	Such climate vulnerability maps have 
already been developed using a common 
framework for the 12 states that fall under 
the Indian Himalayan region.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 

	 (d)	 u rks 1] u gh 2
	73.	^esaVy Iye* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ,d esaVy Iye ìFoh ds esaVy ds Hkhrj vlkekU; 
:i ls xeZ pV~Vku dk mRFkku gSA

	 2.	 esaVy Iye Tokykeq[kh mn~xkj dk dkj.k gksrk gSA

	 3.	 i`Foh ij esaVy Iye ds nks lcls izfl¼ LFkku& 
gokbZ vkSj vkblySaM gSaA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3

	 (b)	 1] 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2

 	 (d)	 dsoy 2
	74.	vkbZ-Vh-lh-”ksM- ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;g ddZ js[kk ij fLFkr ,d mPp ok;qnkc okyk 
{ks=k gS] tgk¡ mÙkjh vkSj nf{k.kh xksyk¼Z ls vkus 
okyh O;kikfjd iousa feyrh gSaA

	 2.	 Hkkjr esa tqykbZ ds eghus esa vkbZ-Vh-lh-”ksM- 
20º-25º mÙkjh v{kka'kksa ds vkl&ikl xaxk ds 
eSnku esa vofLFkr gks tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	75.	^fganq&dq'k fgeky;* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 fganq&dq'k fgeky; {ks=k dks rhljk èkqzo ekuk tkrk 
gS rFkk ;g tyok;q ifjorZu dh n`f"V ls vR;ar 
lqHks| gSA 

	 2.	 fganq&dq'k fgeky; {ks=k ,d o`gn~ ioZrh; iz.kkyh 
gS] tks viQxkfuLrku] ckaXykns'k] HkwVku] phu] 
Hkkjr] usiky vkSj ikfdLrku ns'kksa rd iQSyk gSA

	 3.	 rhljk èkzqo] tks fo'kky Øk;ksLiQsfjd {ks=k ls f?kjk 
gqvk gS_ ;gk¡ ciQZ dk lokZfèkd HkaMkj ik;k 
tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 
	 (b) 	2 only 
	 (c) 	Both 1 and 2
	 (d) 	Neither 1 nor 2
	 73. 	With reference to the ‘Mantle Plume’, consider the 

following statements:
	 1. 	A mantle plume is the upwelling of 

abnormally hot rock within the mantle of 
the Earth.

	 2. 	Mantle plumes are the reason of volcanic 
eruptions.

	 3. 	The two most famous locations of the 
mantle plume on Earth are Hawaii and 
Iceland.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	3 only 
	 (b) 	1, 2 and 3 
	 (c) 	1 and 2 only
	 (d) 	2 only 
	 74. 	With reference to ITCZ, consider the following 

statements:
	 1. 	It is a high-pressure area located on the 

Tropic of Cancer, where trade winds from 
the northern and southern hemispheres 
meet.

	 2. 	In India, in the month of July, ITCZ is 
located in the Gangetic plains around 
20º-25º N latitudes.

		  Which of the statement(s) given above is/are not 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2
	 75. 	Consider the following statements in the context 

of 'Hindu Kush Himalayas':
	 1. 	The 'Hindu-Kush Himalayan region' is 

considered the third pole and is highly 
vulnerable in terms of climate change.

	 2. 	The Hindu-Kush Himalayan region is a 
large mountainous channel, extending to 
countries Afghanistan, Bangladesh, Bhutan, 
China, India, Nepal and Pakistan.

	 3. 	The third pole, which is surrounded by a vast 
cryospheric area; the largest ice reserves are 
found here.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3
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	76.	;wfulsiQ }kjk tkjh ^LVsV vkWiQ n oYM~Zl fpYMªsu fjiksVZ* 
ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g cPpksa ds iks"k.k ds lacaèk esa fiNys 20 o"kks± 
esa ;wfulsiQ }kjk tkjh dh xbZ igyh fjiksVZ gSA 

	 2.	 fjiksVZ ds vuqlkj] Hkkjr esa izR;sd nwljk cPpk 
dqiks"k.k ds fdlh&u&fdlh :i ls xzLr gSA

	 3.	 bl fjiksVZ ds vuqlkj] vYiiks"k.k ds dkj.k Hkkjr 
ds 35% cPps ckSusiu rFkk 17% cPps nqcZyrk 
tSlh leL;k ls xzLr gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 1] 2 vkSj 3

	 (c)	 dsoy 3 	 (d)	 dsoy 2
	77.	gky gh esa fdl jkT; vFkok dsanz'kkflr izns'k ds 

eaf=keaMy us Hkkjr dk igyk jktdh; [ksy fo'ofo|ky; 
LFkkfir djus ds fy;s ,d foèks;d dks ea”kwjh nh gS\

	 (a)	 fnYyh	 (b)	 gfj;k.kk

	 (c)	 fcgkj 	 (d)	 eè; izns'k
	78.	^oSf'od risfnd fjiksVZ&2019* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 bl fjiksVZ ds vk¡dM+s fo'o ds 202 ns'kksa ls 
,df=kr fd;s x, gSa] ftlesa fo'o dh yxHkx 
99% tula[;k 'kkfey gSA

	 2.	 ;g fjiksVZ lrr~ fodkl y{; Øekad&3 ds y{;ksa 
dks izHkkoh cukus dh fn'kk esa izxfr dh fLFkfr 
izLrqr djrh gSA

	 3.	 lrr~ fodkl y{;&3 esa lHkh vk;q ds yksxksa dks 
LoLFk thou iznku djus rFkk o"kZ 2030 rd 
risfnd dk mUewyu djus ds izfr izfrc¼rk O;Dr 
dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	79.	fuEufyf[kr esa ls fdl jkT; esa ns'k dh lcls cM+h 

ikWoj daiuh ,uVhihlh ns'k dk lcls cM+k lksyj ikdZ 
cukus tk jgh gS\

	 (a)	 jktLFkku	 (b)	 xqtjkr

	 (c)	 vkaèkz izns'k 	 (d)	 if'pe caxky
	80.	^'kksèk 'kqf¼* lkWÝVos;j ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 ;g lkWÝVos;j ekuo lalkèku fodkl ea=kky; }kjk 
21 flracj] 2019 dks ykWUp fd;k x;kA

	 2.	 ^'kksèk 'kqf¼* lkfgfR;d pksjh fujksèkh lkWÝVos;j gSA 

	 76.	  With reference to the 'State of the World's Children 
Report' released by UNICEF, consider the 
following statements:

	 1. 	This is the first report released by UNICEF 
in the last 20 years regarding the nutrition of 
children.

	 2. 	According to the report, every second child 
in India suffers from at least one of the 
forms of malnutrition.

	 3. 	According to this report, due to 
undernutrition, 35% of children in India 
suffer from stunting and 17% of children 
with wasting.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 2 only 	 (b) 	 1, 2 and 3
	 (c) 	3 only 	 (d) 	 2 only 

	 77. 	Recently, which state or union territory's cabinet 
has approved a bill to establish India's first state 
sports university?

	 (a) 	Delhi 	 (b) 	 Haryana
	 (c) 	Bihar 	 (d) 	 Madhya Pradesh

	 78. 	With reference to the ‘Global Tuberculosis  
Report– 2019’, consider the following statements:

	 1. 	Data of this report has been collected from 
202 countries of the world, which comprise 
about 99% of the world's population.

	 2. 	This report shows the status of progress 
towards making the goals of Sustainable 
Development Goal -3 effectively.

	 3. 	In the Sustainable Development Goal-3, a 
commitment has been made to provide a 
healthy life to people of all age groups and 
eradicate tuberculosis by the year 2030.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3 

	 79. 	In which of the following states, NTPC, the 
country's largest power company, is going to set 
up the largest solar park in the country?

	 (a) 	Rajasthan	 (b) 	 Gujarat
	 (c) 	Andhra Pradesh	 (d) 	 West Bengal

	 80. 	With reference to the “Shodh Shuddhi” software, 
consider the following statements:

	 1. 	This software was launched by the Ministry 
of Human Resource Development on  
21 September, 2019.

	 2. 	‘Shodh Shuddhi’ is plagiarism detection 
software.
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	 3.	 ;g lsok fo'ofo|ky; vuqnku vk;ksx ds ,d 
varj fo'ofo|ky; dsanz&lwpuk vkSj iqLrdky; 
usVodZ }kjk miyCèk djkbZ tk jgh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 1] 2 vkSj 3

	 (c)	 dsoy 2 vkSj 3 	 (d)	 dsoy 1
	81.	^xzhu pSuy dEchus'ku* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 Hkkjrh; izfrLi¼kZ vk;ksx us izfrLi¼kZ vfèkfu;e] 
2002 ds rgr nkf[ky izFke xzhu pSuy dEchus'ku 
izkIr fd;kA

	 2.	 xzhu pSuy dk mn~ns'; la;kstu ekeyksa dh rs”k] 
ikjn'khZ vkSj tokcnsg leh{kk dks cuk, j[kuk 
rFkk lqfo/k ,oa izorZu dk;ks± ds chp larqyu ds 
ekè;e ls vkfFkZd fodkl dk leFkZu djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	82.	^izèkkuea=kh dh vkfFkZd lykgdkj ifj"kn* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ljdkj us izèkkuea=kh dh vkfFkZd lykgdkj ifj"kn 
dk iquxZBu fd;k gSA

	 2.	 bl ifj"kn dk dk;Zdky nks o"kZ dk gksxk vkSj 
;g 26 flracj] 2019 ls izHkkoh gSA

	 3.	 MkWDVj fccsd nscjkW; izèkkuea=kh dh iquxZfBr 
vkfFkZd lykgdkj ifj"kn ds vè;{k ,oa jru 
ih-okVy lnL; lfpo gksaxsA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	83.	^pdek leqnk;* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 pdek leqnk; ds yksx pVxk¡o igkM+h {ks=k ds 
LFkkfud gSa] tks fd ckaXykns'k esa fLFkr gSA

	 2.	 o"kZ 2011 dh tux.kuk ds vuqlkj] fe”kksje dh 
11 yk[k tula[;k esa ls pdek leqnk; dh 
tula[;k yxHkx 1 yk[k gSA

	 3.	 pdek leqnk; eq[;r% eqfLye èkeZ dk 
vuq;k;h gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 1] 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2 	 (d)	 dsoy 2

	 3. 	This service is being provided by an 
inter-university centre – Information and 
Library Network of the University Grants 
Commission. 

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	2 only 	 (b) 	 1, 2 and 3
	 (c) 	2 and 3 only 	 (d) 	 1 only 
	 81. 	With reference to ‘Green Channel Combination’, 

consider the following statements:
	 1. 	The Competition Commission of 

India received the first Green Channel 
Combination filed under the Competition 
Act, 2002.

	 2. 	The green channel is aimed to maintain a 
speedy, transparent and accountable review 
of combination cases and strike a balance 
between facilitation and enforcement 
functions, to support the economic growth.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2
	 82. 	With reference to 'Economic Advisory Council to 

the Prime Minister', consider the following 
statements:

	 1. 	The government has reconstituted the Prime 
Minister's Economic Advisory Council.

	 2. 	The term of this council will be two years 
and is effective from 26th September 2019.

	 3. 	Dr. Bibek Debroy will be the Chairman 
and Ratan P. Watal will be the Member 
Secretary of the reconstituted Economic 
Advisory Council of the Prime Minister.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3 
	 83. 	Consider the following statements regarding the 

'Chakma community':
	 1.	  The Chakma community is native of the 

Chittagong Hills Region, which is located 
in Bangladesh.

	 2. 	According to the 2011 Census, out of the 11 
lakh population of Mizoram, the Chakma 
community has a population of about 1 
lakh.

	 3. 	The Chakma community is primarily a 
follower of the Muslim religion.

		  Which of the statement(s) given above is/are not 
correct?

	 (a) 	3 only 	 (b) 	 1, 2 and 3
	 (c) 	1 and 2 only 	 (d) 	 2 only 
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	84.	^ijiQkWes±l LekVZ&cksMZ* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g ,d Lopkfyr fj;y Vkbe ijiQkWes ±l 
LekVZ&cksMZ gS] ftls egkRek xkaèkh dh 150oha 
t;arh ds volj ij bysDVªkWfuDl vkSj lwpuk 
izkS|ksfxdh ea=kky; }kjk ykWUp fd;k x;kA 

	 2.	 bl LekVZ&cksMZ dk mn~ns'; ljdkj ds izeq[k 
dk;ZØeksa] tSls& fMftVy bafM;k] vkèkkj vkSj 
fMftVy Hkqxrku dh izHkkoh fuxjkuh djuk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	85.	fuEufyf[kr esa ls fdl jkT; dh ljdkj us izns'k dks 

IykfLVd vif'k"V eqDr djus ds mn~ns'; ls fj&lkbdy 
u gksus okys IykfLVd dks [kjhnus dk fu.kZ; fy;k gS\

	 (a)	 fgekpy izns'k	 (b)	 mÙkj izns'k

	 (c)	 >kj[kaM 	 (d)	 dukZVd
	86.	^cqdj iqjLdkj 2019* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 dukMk dh ekxZjsV ,VoqM vkSj fczVsu dh cukZfMu 
,ofjLVks dks o"kZ 2019 ds cqdj iqjLdkj ds fy;s 
la;qDr :i ls pquk x;k gSA

	 2.	 ekxZjsV ,VoqM dks ^n VsLVkesaV* uked miU;kl  
ds fy;s bl iqjLdkj gsrq pquk x;kA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	87.	^flaxkiqj&Hkkjr gSdFkkWu* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 vkbZ-vkbZ-Vh-] dkuiqj esa 28 vkSj 29 flracj] 
2019 dks ^flaxkiqj&Hkkjr gSdFkkWu* ds nwljs 
laLdj.k dk vk;kstu fd;k x;kA

	 2.	 Hkkjr ,oa fdlh vU; ns'k ds chp ;g viuh 
rjg dk igyk la;qDr varjkZ"Vªh; gSdFkkWu gSA 

	 3.	 bl la;qDr gSdFkkWu dk y{; Hkkjr vkSj 'ks"k 
fo'o ds Nk=k leqnk; ds chp lg;ksx dks c<+kok 
nsuk rFkk lekt dh dqN pqukSrhiw.kZ leL;kvksa 
dk uoksUes"kh o yhd ls gVdj lekèkku ryk'kuk 
gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	 84. 	With reference to the ‘Performance Smart-Board’, 
consider the following statements:

	 1. 	It is an automated real- time performance 
smart-board, launched by the Ministry of 
Electronics and Information Technology on 
the occasion of 150th birth anniversary of 
Mahatma Gandhi.

	 2. 	The purpose of this smart-board is to 
effectively monitor government's flagship 
programs, such as Digital India, AADHAAR 
and digital payments.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2

	 85. 	Which of the following state government has 
decided to purchase non-recyclable plastic for the 
purpose of making the state plastic waste- free?

	 (a) 	Himachal Pradesh 	 (b) 	 Uttar Pradesh
	 (c) 	Jharkhand 	 (d) 	 Karnataka

	 86. 	With reference to 'Booker Prize 2019', consider 
the following statements:

	 1. 	Canada's Margaret Atwood and Britain's 
Bernardine Evaristo have been jointly 
selected for the 2019 Booker Prize.

	 2. 	Margaret Atwood was chosen for this award 
for a novel named ‘The Testaments’.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2	 (d)	  Neither 1 nor 2

	 87. 	With reference to ‘Singapore-India Hackathon’, 
consider the following statements:

	 1. 	The second edition of ‘Singapore-India 
Hackathon’ was held on 28th and 29th 
September 2019 at IIT-Kanpur.

	 2. 	It is the first joint international hackathon 
of its kind between India and any other 
country.

	 3.	  This joint hackathon is aimed to promote 
cooperation between the students of 
India and the rest of the world and to find 
innovative and out-of-the-box solutions to 
some of the daunting problems of society.

		  Which of the statement(s) given above is/are not 
correct?

	 (a) 	1 only 	 (b)	  1 and 2 only 
	 (c)	  2 and 3 only 	 (d) 	 1, 2 and 3 
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	88.	teZuh esa vYÚsM osxsuj baLVhV~;wV }kjk izk;ksftr bfrgkl 
ds lcls cM+s vkdZfVd vfHk;ku 'MOSAiC' ds fy;s 
fdl Hkkjrh; oSKkfud dks pquk x;k gS\

	 (a)	 fo".kq uanu
	 (b)	 iadt djkans

	 (c)	 vk;q"k dqekj

 	 (d)	 mi;qZDr esa ls dksbZ ughaA
	89.	gky gh esa tkiku esa vkus okys m".kdfVcaèkh; pØokr 

^gxhfcl* dks ;g uke fuEufyf[kr esa ls fdl ns'k ds 
}kjk fn;k x;k\

	 (a)	 fiQyhihal	 (b)	 fo;ruke

	 (c)	 Hkkjr 	 (d)	 phu
	90.	^Hkkjr ty lIrkg&2019* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 dsanzh; ty 'kfDr ea=kky; us 24 ls 30 flracj] 

2019 rd NBs Hkkjr ty lIrkg&2019 dk 
vk;kstu fd;kA 

	 2.	 bl o"kZ dk;ZØe dh Fkhe ¶ty lg;ksx% 21oha 
lnh dh pqukSfr;ksa dk lkeuk djuk¸ FkhA

	 3.	 bl dk;ZØe ds fy;s tkiku vkSj ;wjksih; la?k 
dks lg;ksxh cuk;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	91.	^IykfLVd vif'k"V izcaèku fu;e] 2016* ds lanHkZ esa 

fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 1.	 bl fu;e ds varxZr IykfLVd dh FkSfy;ksa dh 

eksVkbZ dks ifjHkkf"kr fd;k x;k gSA

	 2.	 blds varxZr lM+d fuekZ.k ,oa ÅtkZ ds mRiknu 
esa IykfLVd mi;ksx dk izkoèkku fd;k x;k gSA

	 3.	 bl fu;e esa vk;krd] mRiknd ,oa Lokeh ds 
iathdj.k ds fy;s ,d dsanzh; iathdj.k iz.kkyh 
dh LFkkiuk dk izkoèkku fd;k x;k gSA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3
	92.	^jk"Vªh; vijkèk fjdkWMZ C;wjks* ds lanHkZ esa fuEufyf[kr 

dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 bldh LFkkiuk o"kZ 1986 esa dh xbZ FkhA

	 (b)	 bldk eq[;ky; ubZ fnYyh esa gS vkSj ;g Hkkjr 
ljdkj ds x`g ea=kky; dk fgLlk gSA

	 (c)	 blds orZeku funs'kd jkeiQy iokj gSaA

 	 (d)	 mi;qZDr lHkhA

	 88.	  Which Indian scientist has been chosen for the 
largest ever Arctic expedition in history 'MOSAiC' 
spearheaded by the Alfred Wegener Institute in 
Germany?

	 (a) 	Vishnu Nandan	 (b) 	 Pankaj Karande
	 (c) 	Ayush Kumar	 (d) 	 None of the above.
	 89. 	Recently, the tropical cyclone 'Hagibis' hit in Japan 

was given the name by which of the following 
country?

	 (a) 	Philippines	 (b) 	 Vietnam
	 (c) 	India	 (d) 	 China
	 90. 	With reference to ‘India Water Week-2019’, 

consider the following statements:
	 1. 	The Union Ministry of Jal Shakti organized 

the 6th India Water Week – 2019 from 24th 
to 30th September 2019.

	 2. 	This year the theme of the event was "Water 
Cooperation – Coping with 21st Century 
Challenges".

	 3. 	Japan and European Union have been 
associated as partner countries for this 
event.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3 
	 91. 	Which of the following statements is/are correct 

in the context of  'Plastic Waste Management Rules, 
2016'?

	 1. 	The thickness of plastic bags is defined 
under this rule.

	 2. 	Under this, the provision has been addressed 
to use plastics in road construction and 
energy production.

	 3. 	In this rule, a provision has been prescribed 
to establish a Central Registration System 
for registration of importers, producers and 
owners.

		  Code:
	 (a) 	1 and 2 only 	 (b) 	 2 and 3 only
	 (c) 	3 only 	 (d) 	 1, 2 and 3 

	 92. 	With reference to the ‘National Crime Records 
Bureau’, which of the following statement(s) is/
are correct?

	 (a) 	It was established in the year 1986.
	 (b) 	It's headquarter is in New Delhi and it 

is a part of the Ministry of Home Affairs, 
Government of India.

	 (c) 	Ramphal Pawar is its Director at present.
	 (d)	  All of the above.
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	93.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ,d ns'kkarj js[kk ij fLFkr lHkh LFkkuksa dk LFkkuh; 
le; leku gksrk gSA

	 2.	 lHkh v{kka'kh; js[kk,¡ i`Foh dks nks cjkcj Hkkxksa 
esa ck¡Vrh gSaA

	 3.	 izèkku eè;kg~u js[kk iz'kkar egklkxj ls xq”kjrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3
	94.	^Hkkjr LVst ekunaM* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 vizSy 2019 esa eqacbZ ch,l&IV ekunaM okys 
b±èkuksa ds LFkku ij ch,l&VI ekunaM okys b±èkuksa 
dks viukus okyk Hkkjr dk igyk 'kgj gSA

	 2.	 Hkkjr ljdkj us o"kZ 2016 esa ;g ?kks"k.kk dh fd 
og ch,l&V ds ekunaM dks ykxw fd;s cxSj o"kZ 
2020 rd izR;{k :i ls ch,l&VI ekunaM dks 
ykxw djsxhA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	95.	^[kksu jkeyhyk* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 FkkbZySaM dh [kksu jkeyhyk dks ;wusLdks dh vewrZ 
lkaLÑfrd fojklr dh lwph esa 'kkfey fd;k 
x;k gSA

	 2.	 mÙkj izns'k ljdkj dk laLÑfr foHkkx fo'o 
izfl¼ [kksu jkeyhyk gsrq ns'k dk igyk izf'k{k.k 
vkSj izn'kZu dk;ZØe vk;ksftr djus tk jgk gSA

	 3.	 bl u`R; ds nkSjku dksbZ laokn ugha gksrk gS] cfYd 
i`"BHkwfe dh vkok”ksa gh jkek;.k dh iwjh dgkuh 
dks O;Dr djrh gSaA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1] 2 vkSj 3	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3 	 (d)	 dsoy 1 vkSj 2
	96.	fuEufyf[kr esa ls dkSu Hkza'kksRFk ioZr dk@ds mnkgj.k gS@gSa\

	 1.	 CySd iQkWjsLV	 2.	lriqM+k ioZr

	 3.	 okLts”k ioZr	 4.	czãiq=k unh ?kkVh

	 	dwV%

	 (a)	 dsoy 1 vkSj 2 	 (b)	 dsoy 3

	 (c)	 dsoy 3 vkSj 4 	 (d)	 1, 2, 3 vkSj 4

	 93. 	Consider the following statements:
	 1. 	All locations on a longitude line have the 

same local time.
	 2. 	All latitudinal lines divide the earth into two 

equal parts.
	 3. 	The prime meridian passes through the 

Pacific Ocean.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 and 3 only 
	 (c) 	3 only 	 (d) 	 1, 2 and 3 

	 94. 	With reference to ‘Bharat Stage Norms’, consider 
the following statements:

	 1. 	In April 2019, Mumbai became the first city 
in India to replace BS-IV standard fuels 
with BS-VI standard fuels.

	 2. 	 The Government of India announced in the 
year 2016 that it would directly implement 
the BS-VI norm by the year 2020 without 
implementing the BS-V norms.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2

	 95. 	With reference to ‘KHON Ramlila’, consider the 
following statements:

	 1. 	KHON Ramlila of Thailand has been listed 
in the list of the intangible cultural heritage 
of UNESCO.

	 2. 	The Department of Culture of the 
Government of Uttar Pradesh is going to 
organize the country's first training and 
performance program for the world famous 
KHON Ramlila.

	 3. 	There is no dialogue during this dance, 
rather the background voices convey the 
entire story of Ramayana.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1, 2 and 3 	 (b) 	 2 and 3 only 
	 (c) 	3 only 	 (d) 	 1 and 2 only

	 96. 	Which of the following is/are an example/ 
examples of Block Mountains? 

	 1. 	Black Forest
	 2. 	Satpura hills
	 3. 	Vosges Mountains
	 4. 	Brahmaputra River Valley

		  Code:
	 (a) 	1 and 2 only	 (b) 	 3 only 
	 (c) 	3 and 4 only	 (d) 	 1, 2, 3 and 4
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	 97. 	Consider the following:
	 1. 	Quartzite	 2. 	 Marble
	 3. 	Graphite	 4. 	 Slate

		  Which is directly related with the above 
metamorphic rock?

	 (a) 	Igneous

	 (b) 	Sedimentary 

	 (c) 	Basalt

	 (d) 	None of the above.

	 98. 	Who among the following scholars has scientifically 
discussed the Continental displacement theory?

	 (a) 	Alfred Wegener

	 (b) 	Harry Hess

	 (c) 	Arthur Holmes 

	 (d) 	McKenzie

	 99. 	Consider the following pairs:

	 	 Lakes  		  Country
	 1. 	Lake Van 	 - 	 Turkey

	 2. 	Lop Nur Lake 		 - 	 China

	 3. 	Lake Urmia		 - 	 Iran

	 4. 	Lake Titicaca 		 - 	 Kenya

		  Which of the pair(s) given above is/are not 
correctly matched?

	 (a) 	4 only

	 (b)	  3 and 4 only 

	 (c) 	1 and 2 only

	 (d) 	2 and 3 only

	100.	  Consider the following statements:

	 1. 	There is maximum pressure on the earth's 
surface and it decreases with the height.

	 2. 	The air Pressure decreases when the amount 
of water vapour increases.

	 3. 	Due to disparity of pressure on the earth, 
the winds blow from high pressure to low 
pressure.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 

	 (b) 	1 and 2 only 

	 (c) 	2 and 3 only 

	 (d) 	1, 2 and 3 

	97.	fuEufyf[kr ij fopkj dhft;s%

	 1.	 DokVZ”kkbV	 2.	laxejej

	 3.	 xzsiQkbV	 4.	LysV

	 	mi;qZDr :ikarfjr pV~Vku dk ewy lacaèk fdlls gS\

	 (a)	 vkXus;

	 (b)	 volknh

	 (c)	 cslkYV 

	 (d)	 mi;qZDr esa ls dksbZ ughaA

	98.	egk}hih; foLFkkiu fl¼kar dh oSKkfud O;k[;k 

fuEufyf[kr esa ls fdl fo}ku }kjk dh xbZ\

	 (a)	 vYÚsM osxuj	 (b)	 gSjhgsl

	 (c)	 vkWFkZj gksEl 	 (d)	 eSdsU”kh

	99.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	>hysa 	  	ns'k

	 1.	 oku >hy	 &	 VdhZ

	 2.	 yksiuksj >hy	 &	 phu

	 3.	 mjfe;k¡ >hy	 &	 bZjku

	 4.	 fVfVdkdk >hy	 &	 dsU;k

	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lqesfyr ugha gS@gSa\

	 (a)	 dsoy 4

	 (b)	 dsoy 3 vkSj 4

	 (c)	 dsoy 1 vkSj 2 

	 (d)	 dsoy 2 vkSj 3

	100.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 i`Foh ry ij lokZfèkd ok;qnkc gksrk gS rFkk 

Å¡pkbZ ds lkFk ;g ?kVrk tkrk gSA

	 2.	 tyok"i dh ek=kk c<+us ij ok;qnkc esa deh vk 

tkrh gSA

	 3.	 i`Foh ij ok;qnkc dh fo"kerkvksa ds dkj.k gok,¡ 

mPp ok;qnkc ls fuEu ok;qnkc dh vksj izokfgr 

gksrh gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 

	 (d)	 1, 2 vkSj 3


